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Verbal Abi
Instructions Q\
.
Scientists recently discovered that Emperor Penguins—one of Antarctica’s most celebrated species—employ a particularly unusual

technique for surviving the daily chill. As detailed in an article published today in the journal Biology Letters, the birds minimize heat loss
by keeping \
the outer surface of their plumage below th Tnp{tup? Lt_rjg_rsy_[r‘o/pnding air. At the same time, the penguins’ thick plumage insulates
their body and keeps it toasty. . . . S HX —

~ \

The researchers analyzed thermographic images . . . taféW\B:VSr roughly a month during June 2008. During that period, the average air
temperature was 0.32 degrees Fahrenheit. At the same time, xh\;majority of the plumage covering the penguins’ bodies was even colder:
the surface of their warmest body part, their/;f,eet, was an average 1.76 degrees Fahrenheit, but the plumage on their heads, chests and
backs were -1.84, -7.24 and -9.76 degrees Fahrenheit respectively. Overall, nearly the entire outer surface of the penguins’ bodies was
below freezing at all times, except for thei 'des and bea}@. The scientists also used a computer simulation to determine how much heat
was lost or gained from each part of the \\ __/_./

body - and discovered that by keeping their outer surface below air temperature, the birds might paradoxically be able to draw very slight
amounts of heat from the air around them. The key to their trick is the difference between two different types of heat transfer: radiation
and ——

convection. | ﬁ/ /‘,‘ f“:_"‘a

The penguins do lose internaltliody h/e/at to 1 “éurrounding air through thermal radiation, just as our bodies do on a cold day. Because
their bodies (but not surface pluma é\)‘are/w rmer than the surrounding air, heat gradually radiates outward over time, moving from a
warmer material to a colder one. To maintain body temperature while losing heat, penguins, like all warm-blooded animals, rely on the
metabolism of food. TI{(—'?penguins, though, have an additional strategy. Since their outer plumage is even colder than the air, the
simulation showed t ;t'“h\ey might gain back a little of this heat through thermal convection—the transfer of heat via the movement of a
fluid (in this case, the ai 'As‘tjle cold Antarctic air cycles around their bodies, slightly warmer air comes into contact with the plumage
and donates minute amount‘§m@§at back to the penguins, then cycles away at a slightly colder temperature.

.,

Most of this hfea the researchers note, probably doesn't make it all the way through the plumage and back to the penguins’ bodies, but it
could make a slight difference. At the very least, the method by which a penguin’s plumage wicks heat from the bitterly cold air that
surrounds if elps to canc?l'put some of the heat that’s radiating from its interior. And given the Emperors’ unusually demanding breeding
cycle, every bi‘t\g\f warmth/counts. . . . Since [penguins trek as far as 75 miles to the coast to breed and male penguins] don't eat anything
during [the inc é't'\ro_% of 64 days], conserving calories by giving up as little heat as possible is absolutely crucial.

Question 1

Which of the following can be responsible for Emperor Penguins losing body heat?
y
A Food metabolism. /
B Plumage. /7/:;
C Reproduction process. (\ \—)
=
D Thermal convection. ﬁ
Answer: C //\\ Q

Explanation:
Option A: It has been mentioned that food metabolism is used to maintain body temperature. But it cannot be inferred that heat is lost
due to food metabolism. HE-I\\

~

Option B: The colder temperature of plumage results in slight heat gain fro urrounding air. Hence this option is incorrect.

is very important for the breeding of Emperor Penguins.
ive process of Emperor Penguins. Hence C is the answer.

Option C: In the last paragraph of the passage, it has been me
So it can be inferred that this conserved heat might be used in the re

Option D: Consider the line: "Since their outer plumage is............c.ccv...... thermal convection—the transfer of heat via the movement of a
fluid (in this case, the air)." It is clear that the@cess o\( ermal convection is responsible for heat gain and not heat loss. Hence D is

incorrect.
—_—
-
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Question 2 4

All of the following, if true, would negate I-\e findings o}ﬂle study reported in the passage EXCEPT:
\ /
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A the penguins’ plumage were made of a material that did not allow any heat transfer through convection or radiation.

B the average temperature of /_ewenguins in the month of June 2008 were found to be 2.76 degrees Fahrenheit.
y. /\ o

C the average air temperatuké recq{rﬂed dl.) T’g the month of June 2008 in the area of study were -10 degrees Fahrenheit.

the temperature of the pIumage‘an@p/engums heads, chests and backs were found to be 1.84, 7.24 and 9.76 degrees Fahrenheit

D
respectively. (i
i\
Answer: B o \\
Explanation: ~

The primary fjmfd\fhgs of the study conclude that Emperor Penguins reduce the heat loss by keeping the temperature of the outer surface
&
of their plu e lower than the surrounding air. In fact, they gain a little heat from the surrounding air through thermal convection.

Option A: If h‘Q plumage dr%; not allow thermal convection, it would contradict the findings of the study. Hence A is not the answer.

.
Option B: Sinc e‘rra‘,sffer of heat takes place through the plumage, variation in the average temperature of feet will not affect the

conclusions of the study. Hence B is the answer.

Option C: The average temperature of plumage should be lower than that of the air. It has been mentioned in the passage that the
temperatures of the plumage on their heads, chests and backs were -1.84, -7.24 and -9.76 degrees Fahrenheit respectively. If the
temperature of the air is -10 degrees Fahrenheit, Penguins would not be able to gain.the heat. Hence, this will negate the study findings.

N

y-
Option D: All the temperatures mentioned in this option are higher than the teyperat re of the air, but the study assumes the surrounding
air temperature to be higher. This option will also negate the study flndlngS/ =
< —

Question 3 (/(/ h
Which of the following best explains the purpose of the word "parad%a{" as used §\th or?

e

C Heat loss through radiation happens despite the heat gain thro(fgimconvecﬂon

>

Keeping their body colder helps penguins keep their plumage war/fn/e(

Heat gain through radiation happens despite the heat loss through convec‘t

D Keeping a part of their body colder helps penguins keep their bodles wa \17
.
Answer: D é'-\‘_“\\

e
.__‘_‘_h_‘-‘/

Explanation: A
r
The word "paradoxically” has been used by the author t0 indicate the two contradictory characteristics mentioned in the statement.

O
Option A: This option states the exact opposﬁec@\ml\usi mentiep_e:d’in the passage. As per the passage, penguins keep their plumage
colder to keep their body warmer. Hence A is |ncorrec\

Option B: It has been mentioned that the penguins lose hggﬁhroygh radiation and gain heat through convection. Hence B is incorrect.

Option C: Although this statement is true, |t,d6és not contain self-contradictory parts. It has been mentioned that the heat loss and heat
gain happen through the given processes }a'f( one has no relation to the other. Hence C is not the answer.

Option D: This statement combines two ¢ r\tradlctory q)l thles The penguins are keeping their plumage colder, which is responsible for
the heat gain from the surrounding air and al 'ngih@l?ody warmer. Hence D is the answer.

N ———
Question 4
In the last sentence of Pa’agrwy warmer air” and “at a slightly colder temperature” refer to AND ______respectively:
A A .

i
u
the cold Antarctic air whose te eratur}e s higher than that of the plumage AND the fall in temperature of the Antarctic air after it has

A
transmitted some heat to the pll}m\_//

the cold Antarctlc z{lr which becomes warmer because of the heat radiated out from penguins’ bodies AND the fall in temperature of
the surrounding ai éfte\thermal convection.

the air trapped in the pIurﬁaTgewvhich is warmer than the Antarctic air AND the fall in temperature of the trapped plumage air after it
radiates out’some heat.

&
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the air |r}dlde penguins’/bodies kept warm because of metabolism of food AND the fall in temperature of the body air after it transfers
some hé@t\to the plu /qge

Answer: A

Explanation:

Option A: Consider the sentence: "As the cold Antarctic air cycles around their bodies, slightly warmer air comes into contact with the
plumage and donates minute amounts of heat back to the penguins, then cycles away at a slightly colder temperature.” It has been
mentioned in the passage that the plumage temperature is lower than the surrounding air temperature. Hence, "slightly warmer air" refers
to the Antarctica air that surrounds the plumage and "at a slightly colder temperature" refers to the fall in temperature due to heat loss.

Option B: The process of convections and not radiation is involved in thlS/éase He cet “first part of the option is incorrect. B is not the

answer
Option C: The passage does not mention air trapped in plumage. Hence th op,t onis r/e\j
Option D: "slightly warmer air" refers to the Antarctica air and not the ir inside tr}e/_‘ s'bodies. Hence D is incorrect.
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Instructions

presented with a few options make better, easier decisions th those prese with many. . . . Helping consumers figure out what to
buy amid an endless sea of choice online has become a cotta ustry |tself Many brands and retailers now wield marketing
buzzwords such as curation, differentiation, and discovery as they L\m/o/sell an assortment of stuff targeted to their ideal customer.
Companies find such shoppers through the data gold mine of digital advertising, which can catalog people by gender, income level,
personal interests, and more. Since Americans have Ios\t he ability to sort through the sheer volume of the consumer choices available to
them, a ghost now has to be in the retail ma ne whet e: it's an aIgorlthm an influencer, or some snazzy ad tech to help a product
follow you around the internet. Indeed, ch0|c s,ons many people gravitate toward lifestyle influencers on Instagram—
the relentlessly chic young moms and perpetually va |bth20 somethings—who present an aspirational worldview, and then

Contemporary internet shopping conjures a perfect storm of choice an\ﬁét% search has consistently held that people who are

recommend the products and services that help achieve it

For a relatively new class of consumer- prodyé)s start-ups, th ere’s another method entirely. Instead of making sense of a sea of existing
stuff, these companies claim to disrupt st as Americans know it. Casper (mattresses), Glossier (makeup), Away (suitcases), and many

others have sprouted up to offer consum freedom fro choice: The companies have a few aesthetically pleasing and supposedly
highly functional options, usually at mid-ra g\prlces T)){ 're selling nice things, but maybe more importantly, they're selling a confidence
in those things, and an ability to opt out of ace.

One-thousand-dollar mattresses and $300 suitcases might solve choice anxiety for a certain tier of consumer, but the companies that sell
them, along with those that atte massage the larger stuff economy into something navigable, are still just working within a
consumer market that's broken in syﬁem:b ways. The presence of so much stuff in America might be more valuable if it were more
evenly distributed, but stuff's g[eato,/s« tendgc fécus their energy on those who already have plenty. As options have expanded for people
with disposable income, the opportqmlty to buy even basic things such as fresh food or quality diapers has contracted for much of
America’s lower classes. S

“‘-. -

For start-ups that prom’i{ge accessible simplicity, their very structure still might eventually push them toward overwhelming variety. Most
of these companies a:re\aii)@sed on hundreds of millions of dollars of venture capital, the investors of which tend to expect a steep growth
rate ":“_\\

that can’t be achieved by sell?hg:“gpe great mattress or one great sneaker. Casper has expanded into bedroom furniture and bed linens.
Glossier, after years of marketing itself as no-makeup makeup that requires little skill to apply, recently launched a full line of glittering
color cosme(i'(’;'s. There may be no way to opt out of stuff by buying into the right thing.

f il
N/

N

Which one of‘thefgllowﬁg/ best sums up the overall purpose of the examples of Casper and Glossier in the passage?

.

Question 5

A They are exceptions to a dominant trend in consumer markets.

They are increasing the purchasing power of poor Americans.

C They might transform into what they were exceptions to.

D They are facilitating a uniform distribution of commodities in the market.

f 7
Answer: C / ] / 1: >
4 \ //‘

N =
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Explanation
Option A: The startups Casper and Glossier are certainly breaking th |ce an ty. Yet, the author argues that they are turning
into something that they intended to disrupt. Hence, this does not capture fh_e he author.

Option B: The author argues that even these startups are targeting select few m\qjange customers rather than the lower classes. Hence,
this option directly contradicts the author's claim. C\

Option C: These startups initially started as an exception to offering a W|de\v‘aﬂety of choices. Yet, due to limited customers, and want of
steep growth, they might transform into a type of company that they intended to’disrupt. Hence, this option correctly resounds the
authors fear and captures his purpose of argument. Hence C |'s~r\

Option D: This option is largely vague and can have multiple interprefé ions. One interpretation can be that these startups are targeting a
selected band of customers and do not have offering fofi lower-class customers. Hence, there is no uniform distribution.

Question 6

All of the following, IF TRUE, would weaken the a\mk;lalmﬁfCEPT

the annual sale of companies that hired }fgstyle influencers on Instagram for marketing their products were 40% less than those that

A
did not. ;//’
B product options increased market co |:'3etition, bringing down the prices of commodities, which, in turn, increased purchasing power
of the poor. '
c the empowerment felt by purchasers in buying a commodity were directly proportional to the number of options they could choose
from.
/ / s
D the annual sales growth oﬁcom[ﬁfnles vvjl)‘kfewer product options were higher than that of companies which curated their products
for target consumers. l\\
Mt
Answer: D & \/
£
al\
Explanation:

Option A: Paragraph 1 sa \hQi{e fatigue is one reason so many people gravitate toward lifestyle influencers on Instagram". Hence, as
per the passage, a company with-wide range of products and a lifestyle influencer is likely to perform better than a company with only
wide range of/pﬁducts. Hence, this statement negates the claim of the author.

&Y

Option B: "A éptions have expanded for people with disposable income, the opportunity to buy even basic things such as fresh food or
quality diapers has contrag’téd for much of America’s lower classes." The author argues that variety of products are offered only for a
certain class f‘n&_pe/r,s other than the lower class. If variety of options indeed helped the poor, then his argument is weakened.

Option C: "Research has consistently held that people who are presented with a few options make better, easier decisions than those
presented with many". "Americans have lost the ability to sort through the sheer volume". Clearly, people are overwhelmed by options and
prefer lesser variety. Hence, option C is contradictory.

he author doesn't make any comparison between
targets only few consumers, for the want of
n about their growths, this option neither strengthens nor

Option D: This option is largely vague and leaves unanswered questions behind. Alsoy;
the growth of these two type of companies. The author only says that, as the compz
growth they are likely to expand to variety of products. As there is no mforma
weakens the claim.

Question 7
Based on the passage, all of the following can be inferred about consumer

A having too many product options can be overwhelming for conSL/yérs

4@

,

B too many options have made it difficult for consumers to trust products.

o

consumers tend to prefer products by start-ups over those by egta\bl-ls\ed companies.

D consumers are susceptible to marketing images that they see on soma \g)a

Answer: C 4\ )

Explanation:

Option A: Paragraph 1 says "Since Americans have Iost\t e ability to sort through the sheer volume of the consumer choices available to
them" Since the product options are overwheﬁ(n they are unable to sort through the options. Hence, option A can be inferred from the
passage.

Downloaded from cracku.in


https://cracku.in

Option B: Paragraph 1 says "Research has consistently ., hldustry unto itself." As people experience choice anxiety due to overwhelming
options, they are unable to trust products while selecting. Hehc‘)they look-out for celebrities and curators to make a decision.

Option C: There is no such comparison in the passage that shows people's preference towards products by startups. Hence, option C

cannot be inferred.

Option D: Paragraph 1 says "a ghost now és}f: be in th etall machine, whether it's an algorithm, an influencer, or some snazzy ad tech
to help a product follow you around the inte ",_Due’c our inability to sort, we depend on influencers or we are vulnerable to snazzy ads
to purchase products. Hence, D can be inferred.

/” /GAI prewous papers (download pdf)

|'

Question 8 l il\ /) J

-t

A new food brand plans to launch a s"er\iés'of products in the American market. Which of the following product plans is most likely to be
supported by the author/of the passage?
X\

.4
N
A Arangeof 10 pr%rﬁ:\e\eﬁpetween $5and $10.
v

B Arange qué%‘ products priced between $5 and $10.
."‘

cC A range(\?k 10 productsf,"ﬁriced between $10 and $25.
N t.-"
\é\"ﬁw/” i
D Arange of 26 produets priced between $10 and $25.

Answer: A
Explanation:
The author principally argues for lesser choices. He says that choice anxiety is ovepw elming and people make better decisions with
lesser choices. s

Ao
He is also critical about companies targeting only certain band of well- off ctéomer and Qunqges them for not offering products for
consumers of lower classes. (

Hence, a product group with lesser variety, and targeted to lower class].[us er woui
Question 9

l>acceptab|e to the author.
/

Which of the following hypothetical statements would add the least Fl t to auth predlctlon of the fate of start-ups offering few
product options?

A An exponential surge in their sales enables start-ups to meet tl@mieswed proflt goals without expanding their product catalogue.
\_\\ &
B Start-ups with few product options are no exception to the American c @_@er market that is deeply divided along class lines.

&
With Casper and Glossier venturing into new product range&,{ regular customers start losing trust in the companies and their
¢ products =

D With the motive of promoting certain rival companlé the government decides to double the tax-rates for these start-ups.

Answer: A Q \ \,-——4::/7

\—
\
Explanation: \

By "Depth’, the author suggests a scenario th/ai adds value o\pplles additional information which supports his claim.

Option A: If the startup products grow exp. r‘lentlally and are self-sufficient and do not expand to other products, this scenario directly
contradicts the author's probable predicti n\of these companies. Hence, it would add the least depth to the author's argument. A is the

correct answer. D

S
Option B: Lets consider that startups with few product options already exist. In such a case, these startups are no exceptions. For the
sake of steep growth and surviving,w might have to expand into different product categories. Hence it adds some depth to the author's

prediction. //-\-,

/ \.
Option C: "There may be no w@y to t out j:stuff by buying into the right thing." The author is clearly displeased with startups ending up
with overwhelming variety. Losing rgg\ular customers for better growth further invigorates the author's claim against numerous choices.
Hence, it adds some value to his crlt\c"Sm/ /
“f\
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Option D: If the governl"@:l:(:ent doubles their tax rates, as these startups are dependent on select customers for income, they might have to
venture into other pr "ts.‘and varieties to accentuate their returns and keep the company afloat. Hence, their fate would likely end up
the way author predicted q\\be\

Y

Instructions

,/ ) Y

As defined b ':ﬂ:e geographer Yi-Fu Tuan, topophilia is the affective bond between people and place. His 1974 book set forth a wide-
ranging exp o(ration of howjthe emotive ties with the material environment vary greatly from person to person and in intensity, subtlety,
and mode oi\(‘-‘:%pression. actors influencing one’s depth of response to the environment include cultural background, gender, race, and
historical circ\urﬂsktanee‘,/aﬁd Tuan also argued that there is a biological and sensory element. Topophilia might not be the strongest of
human emotions—

indeed, many people feel utterly indifferent toward the environments that shape their lives - but when activated it has the power to elevate
a place to become the carrier of emotionally charged events or to be perceived as a symbol.

Aesthetic appreciation is one way in which people respond to the environment. A brilliantly colored rainbow after gloomy afternoon
showers, a busy city street alive with human interaction—one might experience tf)_e”g auty of such landscapes that had seemed quite
ordinary only moments before or that are being newly discovered. This is quityfhe opposite of a second topophilic bond, namely that of
the acquired taste for certain landscapes and places that one knows weII.When a place ifs,_hom?, or when a space has become the locus
of memories or the means of gaining a livelihood, it frequently evokes a d/eeper set/of ql‘}laéﬁﬁﬁ‘ s than those predicated purely on the
visual. A third response to the environment J 1

also depends on the human senses but may be tactile and olfactory, nam

\

a delight i/r'“»tq__ 2 l'and smell of air, water, and the earth.

Topophilia—and its very close conceptual twin, sense of place—is an ;pr ri ﬁceﬁ?’aﬁo ever elusive, has inspired recent architects and
planners. Most notably, new urbanism seeks to counter the perceivegl Pla‘ el_gssp ss of madern suburbs and the decline of central cities
through neo-traditional design motifs. Although motivated by good in‘fentibos{\s@h‘gtjr ts to create places rich in meaning are
perhaps bound to disappoint. As Tuan noted, purely aesthetic responses often‘are ‘sudd enly revealed, but their intensity rarely is
longlasting. Topophilia is difficult to design for and impossible to quantify, and its‘most articulate interpreters have been self-reflective
philosophers such as Henry David Thoreau, evoking a marvelously‘i t‘rrea{e sense of place at Walden Pond, and Tuan, describing his deep
affinity for the desert. «\:\
ha?arker affiliations between people and place. Patriotism,
literally meaning the love of one’s terra patria or homeland, hé§‘}oﬁg\bgen cultivated by governing elites for a range of nationalist projects,

Topophilia connotes a positive relationship, but it often is useful to explore Bj(j/
including war preparation and ethnic cleansing. Residents of upscaré‘reE_/

idertial developments have disclosed how important it is to
maintain their community’s distinct identity, often by cagting themselves in a superior social position and by reinforcing class and racial
differences. And just as a beloved landscape is sudden\§ revealed, so too may landscapes of fear cast a dark shadow over a place that

makes one feel a sense of dread or anmety—QW Ik',__---:”:j/
Question 10 \\x\a -

<
In the last paragraph, the author uses the example of "Re;ide@; of upscale residential developments” to illustrate the:

o)
1’} ’-'

4
A manner in which environments are deijned to minimise the social exclusion of their clientele.
\

]
ékg‘elites}ya/%oduce a sense of dread or topophobia.
=

B introduction of nationalist projects by
C social exclusivism practised by such residents in order to enforce a sense of racial or class superiority.

.
D sensitive response to race/(n’a_cz@s/&\[zrﬂbisms in upscale residential developments.

| N
Answer: C u / i'f j‘)\j
{\ .
\‘\x\_/f/
Explanation: & -
"Residents of upscale residential developments have disclosed how important it is to maintain their community’s distinct identity, often

by casting themselve“{hiuperior social position and by reinforcing class and racial differences."

Option A: The option implie fffaLtbe clients are made to feel at home. While the phrase “Residents of upscale residential developments”
is used to capture the intent of\s\oéial dominance of a particular class. Hence this option is incorrect.

&7
Option B: The pption implies that jingoism of a certain class might lead to topophobia. The option is yet again unrelated.

Option C: Ré\s[{dents of upsﬁ;‘nle residential developments intend to promote their community by reinforcing sectarian differences. This
echusivism(PFW/jﬁg exclusive/important) is clearly captured in the option. Hence C is correct.

Option D: Senwnse indicates a considerate response where other's sentiments are considered. While these residents are
inconsiderate and consider themself superior. Also, the option doesn't capture the purpose clearly. Hence, incorrect
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Question 11

Which one of the following comes closest in meaning to the author’s un rstandl of ilia?

A Scientists have found that most creatures, including humans, are ejther bor € a strong sense of topography.

B The tendency of many cultures to represent their land as mother and’ or “f ay be seen as an expression of their topophilie

C Nomadic societies are known to have the least affinity for the Iands thr y traverse because they tend to be topophobic.

D The French are not overly patriotic, but they will refuse to use E |ISh as far as possible, even when they know it well.

Answer: B

Explanation: \A‘}«)
Option A: The entire passage deals with "TOPOPHILIA" and "TO s unrelated. Also, the author says that we experience

topophilia in three forms and that we are not born with it.
A
Option C: An illustration of topophobia doesn't represer\t he author's view on topophilia

Option D: The option speaks about glossophili \oue&f e)’ja is unrelated to topophilia

Patriotism, literally meaning the love of one’s terra patria or land".
Despite a negative tone, the author says that.one form of topophilia is patriotism. Even though not wholesome, it comes "closest" to the
author's understanding of topophilia among the given options. Hence B is correct.

Option B: "Topophilia connotes a positive relatlonsm ’t;ﬁften is useful to explore the darker affiliations between people and place.

Question 12 \ f ]

Which one of the following best captures t \nemng f the statement, “Topophilia is difficult to design for and impossible to quantify
..

F e
A The deep anomie of modeylj//ﬁrba’ﬁ}sq\ r] Ied to new urbanism'’s intricate sense of place.
g g
B Architects have to objectively qqlantlfy s)) ces and hence cannot be topophilic.
'\ .._\__'_//
Cc Philosopher-architc?C}s are uniquely suited to develop topophilic design

D People’s respon '“to\tj]eir environment are usually subjective and so cannot be rendered in design.
S
. .
Answer: D B
Explanation: ///,
"As Tuan noted, purely aes ﬁetic responses often are suddenly revealed, but their intensity rarely is longlasting. Topophilia is difficult to
design for an impossiblejto quantify”. The author says that people’s response to aesthetics is shortlived and usually subsides overtime.
Hence, it is difficult to n or quantify.
iguit to désign or quantify

Option A: "Amomie" means lack of morals or ethics. It is unrelated to the passage.
Option B: An objective analysis by architects does not explain the reason as to why it is difficult to quantify topophilia.
Option C: This statement is in the form of an opinion and does not explain the above statement.

Option D: Since every person has different topophilic attractions and have different responses to aesthetics. Capturing topophilia in the
form of design is impossible. This option elaborates and explains the reason for quantifying topophilia. Hence option D is correct.

Question 13

The word “topophobia” in the passage is used: (\

A torepresent a feeling of dread towards particular spaces and pIa es. i/C)
B to signify the fear of studying the complex discipline of topography \,
C to signify feelings of fear or anxiety towards topophilic people. C\

D as ametaphor expressing the failure of the homeland to accommoda‘t& -citizens.

™~

N )
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Answer: A \\\\\_//

Explanation: A
"And just as a beloved landscape is suddenly.revealed, so too may landscapes of fear cast a dark shadow over a place that makes one
feel a sense of dread or anxiety—or topophobi

pE——
Option B speaks about topography, while Option C sp

bout dread towards people.
Option D is unrelated to topophobia. Hence, all of them are&m}ect

Option A clearly captures the essence of thgy@st sentence in the passage.
4

(

@_(LA/]D Exam Preparation App

Question 14 ==

Which of the following statement/s,.i!%could be seen as not contradicting the arguments in the passage?
\
ﬁ//_ /’r."’\ \\\

f

. ' / N . . s
A New Urbanism succeeded-n thq/s,e des@fs’where architects collaborated with their clients.
\
N V.
Pt
B Generally speaking,{j\r: agiven cu}twhé ties of the people to their environment vary little in significance or intensity.

[
C The most impor‘cang'gven fundamental, response to our environment is our tactile and olfactory response.
N
.

D Patriotism, usually seen \\pgsitive feeling, is presented by the author as a darker form of topophilia.
y

. ey

Answer: D V 4
Explanation; ﬁ'
Option A: "newsurbanism geeks to... Although motivated by good intentions, such attempts to create places rich in meaning are perhaps
bound to disa m.—”ﬂﬁiauthor says new urbanism that tries to induce sense of place is bound to fail. Since there is no mention of
clients, irrespectively new urbanism is going to fail. Hence, it is contradicting the author.

Option B: "His 1974 book set forth a wide-ranging exploration of how the emotive ties with the material environment vary greatly from
person to person and in intensity, subtlety, and mode of expression." This option is contradicting the passage yet again.

Option C: The author lists out three ways of experiencing topophilia but doesn't elpgfﬁr‘ size about any one way. Hence, even though not
contradictory, this option is factually misquoting the passage. /
o explore the

Option D: "Topophilia connotes a positive relationship, but it often is usefu r affiliations between people and place.
Patriotism, literally meaning the love of one’s terra patria or homeland.." Clearly, the au egative intonation when he says
"darker affiliation". He presents patriotism as a darker manifestation of topophilia; Hence, this statement is correct and does not
contradict the author. Hence option D is correct.

Instructions

"Free of the taint of manufacture” - that phrase, in particular, is heaviltylgéml
Morris called the "anti-scrape’, or an anticapitalist conservationism (not cohser‘vat' at solaced itself with the vision of a
preindustrial golden age. In Britain, folk may often appear a cosy, fossilised form, but when you look more closely, the idea of folk - who
has the right to sing it, dance it, invoke it, collect it, belong to it or ag{psqp{ifite it for political or cultural ends - has always been contested
territory. N

S,

>
N

In our own time, though, the word "folk" . . . has achieved the faﬁ:‘di tinction of occupying fashionable and unfashionable status
simultaneously. Just as the effusive floral prints of the radical WTI\ITam“M rris’now cover genteel sofas, so the revolutionary intentions of
many folk historians and revivalists have led to music that is commonly regarded as parochial and conservative. And yet - as newspaper
columns periodically rejoice - folk is hip again, influenciﬁ\t\rtists, clothing and furniture designers, celebrated at music festivals, awards
ceremonies and on TV, reissued on countles§record labels. Folk is a sonic "shabby chic", containing elements of the uncanny and eerie,
as well as an antique veneer, a whiff of Britair?'é*lfé?thgn

space for rampant imaginative fancies. . . . H“‘-\:“

Fk—__a_g_é_’s’:ﬁ"le very obscurity and anonymity of folk music's origins open up
-
A

RS
[Cecil Sharp, who wrote about this subject, believed that] folk'songs existed in constant transformation, a living example of an art form in
a perpetual state of renewal. "One man sings‘@song, and then others sing it after him, changing what they do not like" is the most concise
summary of his conclusions on its origins, i;,i’é compared each rendition of a ballad to an acorn falling from an oak tree; every subsequent
iteration sows the song anew. But there iﬁnsion in nevqn/ess. In the late 1960s, purists were suspicious of folk songs recast in rock
idioms. Electrification, however, comes in %g);':orms.j" r the early-20th-century composers such as Vaughan Williams and Holst, there
were thunderbolts of inspiration from orientalr
from the rediscovered folk tradition itself.

St461§ , angular modernism and the body blow of the first world war, as well as input

————
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For the second wave of folk revivalists, such as Ewan MacColl and AL Lloyd, starting in the 40s, the vital spark was communism'’s dream
of a post-revolutionary New Je/rﬁs”aTe;n their younger successors in the 60s, who thronged the folk clubs set up by the old guard, the
lyrical [ Ny

freedom of Dylan and the unchaine{éelodl}z}s of psychedelia created the conditions for folkrock's own golden age, a brief Indian
summer that lasted from about 1969 te.197 . Four decades on, even that progressive period has become just one more era ripe for
fashionable emulation ljd pastiche. The'idea of a folk tradition being exclusively confined to oral transmission has become a much
looser, less severely g arded concept. Recorded music and television, for today's metropolitan generation, are where the equivalent of
folk memories are s

. ::\\
Question 15 X
Ata conferenfc@on folk forms, the author of the passage is least likely to agree with which one of the following views?
&
/

L, in their abiHl'g{/ to constantly adapt to the changing world, exhibit an unusual poise and homogeneity with each change.
B The plurality ocratising impulse of folk forms emanate from the improvisation that its practitioners bring to it.
C The power of folk resides in its contradictory ability to influence and be influenced by the present while remaining rooted in the past.
D Folk forms, despite their archaic origins, remain intellectually relevant in contemperary times.

Answer: A /
Explanation:
Cecil Sharp says "One man sings a song, and then others sing it after him, changin wH tthey do not like". This signifies that folk music is
constantly evolving. Hence, this adaptability contributes to its plurality. Hence th auth to agree with option B

"Just as the effusive ..... on countless record labels" This indicates that - t as caI views of Morris became popular and
mainstream, similarly folk music which is considered parochial is beiyj g popular and'conformist. This popularity is being rejoiced by
media as "folk is hip again". Hence, option C correctly captures this sent

"For the early-20th-century composers .... tradition itself." This line captures the idea that folk is also inspired by various philosophies and

schools of thought. Hence, we can infer that folk is intellectually reivant in cont porary times. Option D is in coherence with the
author's views.

Option A says that folk forms exhibit homogeneity. The author in the entire \s\)ge describes the diversity of folk and says it paves way
for vivid imagination. "The very obscurity and anonymity of folk'music's origins open up space for rampant imaginative fancies". Cecil
Sharp cites an analogy of an oak tree to show the constant tran§f@& i olk. Hence, this option is contradicting author's opinion
and he is least likely to agree with it. —

Question 16 \f

The primary purpose of the reference to Willi orris\@ d hi prints is to show:
.
\

A that despite its archaic origins, folk continues to remain

ular tradition.

V4
the pervasive influence of folk on contefmporary art, culture, and fashion.

C that whatis once regarded as radical n\folk, can Iatefpe seen as conformist.

that what was once derided as genteel is ou,s‘féred revolutionary.

D
Answer: C
Explanation: /\ .y
"Just as the effusive floral prlbfs of ‘Ms radl illiam Morris now cover genteel sofas, so the revolutionary intentions of many folk

historians and revivalists have led t&\}nusm’t at is commonly regarded as parochial and conservative.

Here the author compares two aspects. e know that William Morris is a radical conservationist as per para 1. (genteel refers to
respectable/gentlemar\lﬁ(\, genteel sofas refers to people in respectable place in life) As the footprints/views of William Morris becomes
more populari.e. as s\eQ{ative folk forms once considered radical became more mainstream, similarly folk music which is considered
parochial is now being revi Mrevivalists. The primary purpose is to show an analogy that a radical folk form became more
mainstream/acceptable over time/ This expression is best captured in option C

-

&
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Question17

The author says that folk “may often appear a cosy, fossilised form” because:

A folk is a sonic “shabby chic” with an antique veneer.

B of its nostalgic association with a pre-industrial past. /

C it has been arrogated for various political and cultural purposes. [
D the notion of folk has led to several debates and disagreements. /

Answer: B

Explanation: v B
"Free of the taint of manufacture” ...... been contested territory." N

The phrase "Free of the taint of manufacture” is likely to have emerMpost-indus:trialisation when conservationinsts(conserving status
quo especially natural resources) fancied a pre-industrial age and eibre;s‘Sed nostalgic attachment towards it. Hence the main point of the
first paragraph can be summarised as "Conservationists envisioned a cosy olk §orm inspired by preindustrial times".

Hence option B is the correct answer 4:‘:‘\\ )
-
Question 18 =
Which of the following statements about folk revivalis 1 of the 1940s and 1960s cannot be inferred from the passage?
O
A Electrification of music would not have happenh: \:@qu%ﬁ're’l’rﬁluence of rock music.
\

.
B Even though it led to folk-rock’s golden age, it wasn't entl\'@free from critique.
/5

C Itreinforced Cecil Sharp’s observation '/dbut folk’s constant transformation.

D Freedom and rebellion were popular t ew second wave of folk revivalism.

Answer: A

Explanatlon /_\3
" In the late 1960s, purists were suspicious f\glk songs recast in rock idioms." Purists oppose any altercation or adaptation of original
folk from and they criticized thje adap}’atlonﬁ rock too. Hence, option B can be inferred

Folk music was inspired by revolutl%‘aw
expression(Bob dylan) and psychedalia:

ntions in 1940s, various philosophies and school of thoughts in 1960s, Freedom of

This shows a constal;L\Qransformatlon of folk reinforcing the beliefs of Cecil Sharp. Option C is correct.
Option D can be rightly-inferred from the lyrical freedom of bob dylan and revolutionary intentions in 1940s.

Option A : "In the late 1960s, purists were suspicious of folk songs recast in rock idioms. Electrification, however, comes in many forms."
Even though ttye(*electrification of folk by rock was rejected by purists, electrification came in many forms and not individually by Rock
alone. Hencjfp ectrification of folk music is not causated by rock alone. Hence option A cannot be inferred.

Question 1 ( }ﬂ‘
All of the foll \‘Iﬁgi@c/ ses for plurality and diversity within the British folk tradition EXCEPT:

A that British folk continues to have traces of pagan influence from the dark ages.
B paradoxically, folk forms are both popular and unpopular. /ﬂ
C the fluidity of folk forms owing to their history of oral mode of transmission:

Answer: B

D that British folk forms can be traced to the remote past of the country. // -
| d
\

Explanation: / /I_’ =

Option A and option D both signifies the inspiration of folk music froqbtw dlffe nt ti %Folk is not limited to immediate past or to any
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specific time-line. This contributes to the plurality of folk music. \*\\ﬁj‘//
Option C talks about "fluidity". Fluidity indicates flexibility or different modes of oral rendition. For example different vocal styles can be

generated by pitch, rhythm, style of rendition. Hence, the variance i }a transmission of music can lead to various iterations of one
original form. Hence, this again contributes to the diversity and pIuraIity\of folk music.

~7
Option B: Popularity or unpopularity is an opinion. An oplnlongmo way co%ﬁjutes to the diversity of a folk form. It might be regarded as
diverse opinions but does not inherently contribute to the dlverWIky Hence, option B does not contribute to folk's plurality.

—

Top-500 Free CAT Questions (With Solutions)

Instructions Q\\\\\\f_.::_—j
S A

In the past, credit for telling the tale of Aladdin has off‘érmio‘ne\to Antoine Galland . . . the first European translator of . . . Arabian Nights

[which] started as a series of translations of an incomplete manuscript of a medieval Arabic story collection. . . But, though those tales

were />

of medieval origin, Aladdin may be a more 1 cent invention. Scholars have not found a manuscript of the story that predates the version

published in 1712 by Galland, who wrote i s diary thatp]e first heard the tale from a Syrian storyteller from Aleppo named Hanna Diyab.
/

y
Despite the fantastical elements of the story, SthTaJ:s now think the main character may actually be based on a real person'’s real
experiences. . . . Though Galland never credited Diyab in his published translations of the Arabian Nights stories, Diyab wrote something
of his own: a travelogue penned inthe.mid-18th century. In it, he recalls telling Galland the story of Aladdin [and] describes his own hard-
knocks upbringing and the wa h’e m?rye[ed at the extravagance of Versailles. The descriptions he uses were very similar to the
descriptions of the lavish palq_qe tha’t ended up/ln Galland’s version of the Aladdin story. [Therefore, author Paulo Lemos] Horta believes
that “Aladdin might be the young Argb Marol‘)te from Aleppo, marveling at the jewels and riches of Versailles.”

For 300 years, scholars thought that the4cags -to-riches story of Aladdin might have been inspired by the plots of French fairy tales that
came out around the sé/ e time, or that the story was invented in that 18th century period as a byproduct of French Orientalism, a
fascination with stergbiyp\lcal exotic Middle Eastern luxuries that was prevalent then. The idea that Diyab might have based it on his own
life — the experienceséﬁa;Midgle Eastern man encountering the French, not vice-versa — flips the script. [According to Horta,] “Diyab was
ideally placed to embody thé‘oué‘r\lgpping world of East and West, blending the storytelling traditions of his homeland with his youthful
observations of-the wonder of 18th-century France.” . ..

To the scholars who study the tale, its narrative drama isn't the only reason storytellers keep finding reason to return to Aladdin. It reflects
not only “a f tory of the F}Ench and the Middle East, but also [a story about] Middle Easterners coming to Paris and that speaks to our
world

today,” as Hoﬁpﬁutsrrf” “The day Diyab told the story of Aladdin to Galland, there were riots due to food shortages during the winter and
spring of 1708 to 1709, and Diyab was sensitive to those people in a way that Galland is not. When you read this diary, you see this
solidarity

among the Arabs who were in Paris at the time. . . . There is little in the writings of Galland that would suggest that he was capable of
developing a character like Aladdin with sympathy, but Diyab’s memoir reveals a narrator adept at capturing the distinctive psychology of
ayoung //

protagonist, as well as recognizing the kinds of injustices and opportunltles that'can transform the path of any youthful adventurer.”

ion 2
Question 20 =

All of the following serve as evidence for the character of Aladdin belr}g @ j/ Ham{ Dlya XCEPT

A Diyab's narration of the original story to Galland.
B Diyab’s humble origins and class struggles, as recounted in his trav/e\o \
C Diyab’s description of the wealth of Versailles in his travelogue.

Q\

D Diyab’s cosmopolitanism and cross-cultural experience.

.
Answer: A & ))
. s\_///
Explanation: ~——

The passage says "describes his own hard-knocks upbringing and the way he marvelled at the extravagance of Versailles. The
descriptions he uses were very similar to the descriptions of the lavish palace that ended up in Galland’s version of the Aladdin story."
Hence, option B and option C depicts the suﬁ@ ies of BﬁrlrEDly/ab'% life and Aladdin's character

r@ vVEr’Ia of East and West, blending the storytelling traditions of his homeland
". Since Diyab is a middle eastern man who came to France, his
aracter of Aladdin. Hence, option D gives evidence for the claim aladdin

Option D:“Diyab was ideally placed to embody the o
with his youthful observations of the wonder of 18th-cen
cross-culture experience would make him ideal to embody the
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is based on hana diyab's life. />

Option A: Even though Diyab narrated the tfory, he might have read it somewhere or heard it from someone else, it doesn't necessarily
give any insight about its relationship withihis life. /

Question 21

Which of the following is the primary reason for why storytellers are still fascinated by the story of Aladdin?

CIN
A The traveller's experlenceﬂﬁat |n/é}z)|red ’t \ale of Aladdin resonates even today.

{ l
The archetype of the rags-to—ricHe@o’}r)/of Aladdin makes it popular even today.

(¢

The tale of AIaddin'pbcuments the history of Europe and Middle East.

o

The story of Aladdin is \deqce of the eighteenth century French Orientalist attitude.

Answer: A .
J/J‘r/
&
Explanation{ [
It reflects not'only “a histofy"of the French and the Middle East, but also [a story about] Middle Easterners coming to Paris and that

speaks to our'wor tO)l,/

The above statement indicates that the primary reason for scholars to go back to aladdin is the intrigue about middle easteners coming
to paris.

Option B and D have references from third paragragh which is unrelated to the context.

While option C is one of the reasons, the primary reason as per the author is optlo/n4 raveller's experience indicates midleeasteners

oday" highlighting the importance of

experience in france). /
Option A can be considered as one of primary importance as he says thap/ peaks t the

middle-easteners coming to paris. o
Question 22
Which of the following does not contribute to the passage’s claim ab ut Tﬁof Aladd|n'7

A The narrative sensibility of Diyab’s travelogue.

B Galland’s acknowledgment of Diyab in his diary. Q“‘\

C The story-line of many French fairy tales of the 18th century. M“‘\:\?

D The depiction of the affluence of Versailles in Diyab’s tra\[ékbgue ))
Answer: C \\‘ —7

Explanation:

The narrative sensibility of Diyab's travelogugmdlcatesi ilarity in characters of Aladdin and Diyab in terms of sensibility, being
considerate. Hence, option A strengthens theT)as\sag\ -abou't"ﬂladdln s character having ties with that of Diyab

Option B, Galland's acknowledgement again |nd|cates“ﬂqa§ }\len might be predated than 1712 and might have some roots associated
with Diyab 2

Option D, The affluence in the story of AIaddiﬁ>and Diyab's travelogue have major similarities. This suggests that Aladdin maybe based on
Diyab's life experiences. Hence, it supports the passage's claim about authorship.

| J
As per option C, the french fairy tales inform, us about tDeZ)robable cause/motive behind writing Aladdin but doesn't lead to information
regarding its authorship. S ,/'/

~

———

= Free CAT Study Material
I

Question 23 J / /
The author of the passage is most i{ﬁeygree with which of the following explanations for the origins of the story of Aladdin?

7
A Basingitonhiso m&'{ife experiences, Diyab transmitted the story of Aladdin to Galland who included it in Arabian Nights.
N
.,
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B Galland derived the stf)?yﬁ‘fﬁl\lgddin from Diyab's travelogue in which he recounts his fascination with the wealth of Versailles.
7

PN
C The stor f"?f/AIaddin has its origins in an undiscovered, incomplete manuscript of a medieval Arabic collection of stories.

D Galland (\égeived the sftt;ry of Aladdin from Diyab who, in turn, found it in an incomplete medieval manuscript.

Answer: A v/

Explanation:
"Galland wrote in his diary that he first heard the tale from a Syrian storyteller from Aleppo named Hanna Diyab

Since he heard the story, option B is incorrect.

y
y
Also, the first paragraph implies that - While Arabian nights predates to medi/ewftim s, the earliest appearance of Aladdin is in 1712.
Hence, option C and D are incorrect. p o

/’
"Transmit" means passing from one person to another. This can imply that Diyab told if@a . Also, Aladdin is one of the stories of
"Arabian Nights" (Others include Alibaba & 40 thieves, Sindbad). Hence/)p Ais corr

=
S~
se&@ ipt” refers to?
\’\‘ /

A Diyab'’s travelogue described the affluence of the French city of Bordeaux, ilﬁ:@of Versailles.

Question 24

Which of the following, if true, would invalidate the inversion that thé/pl(

O
B The French fairy tales of the eighteenth century did not have rags\-toi'iehes plot lines like that of the tale of Aladdin.
C The description of opulence in Hanna Diyab’s and Antoin%{‘%nd's n%t}'ves bore no resemblance to each other.

D Galland acknowledged in the published translations of Arabﬁﬁgmkslt/hét he heard the story of Aladdin from Diyab.
Answer: C /)
(\

S
Explanation: Q\\&\F’ﬁ
The second paragraph says that there are 2 possibl tions for writing the story of Aladdin, first being french fairy tales and second
being French orientalism. He goes on to say, if aladm based on the life of hanna Diyab, then the idea of french orientalism is

inversed. .

/ /
"or that the story was invented in that 18th ¢entury period as a byproduct of French Orientalism, a fascination with stereotypical exotic
Middle Eastern luxuries that was prevalen j&hen. The if:ﬁ?hat Diyab might have based it on his own life — the experiences of a Middle

Eastern man encountering the French, not\v@\e-\vgrisa/) ps the script."

French Orientalism implies an intrigue of Frenc\:FiTcT\Tv/a/rds Middle-eastern luxuries, while Diyab coming to france shows an interest of
middle-easteners in France. Hence, the script is inversed if Aladdin's story is based on Hanna Diyab.

The question is looking for op:/d’d_h%imlalidates the inversion. This implies that the script shouldn't be inversed. This occurs when
Aladdin's story is not based on Diyab/ ,r"\""“-\

f

S
u y

L
Option C says that Diyab's travellogpé does%‘} bear any resemblance to Galland's Aladdin. This implies that Aladdin is not based on Diyab.

F i

Hence, the inversion of script doesn‘t_g‘ceﬂ:rjinvalldated. None of the other options invalidate the script.

.
Hence, option C is corrér-;’t
LT

. A
Instructions \
For the following question Fjsmer them individually

Question 25 ., g
V 4
Five sentences related to a topic are given below in a jumbled order. Four of them form a coherent and unified paragraph. Identify the
odd sentence that does not go with the four. Key in the number of the option that you choose.
1. ‘Stat’ sign\aie_g sometw measurable, while ‘matic’ advert ised free labour; but ‘tron’, above all, indicated control.
2. It was a tot .ft_'s_f-l'lighmodernism, the intellectual and cultural mode that decreed no process or phenomenon was too complex to be
grasped, managed_a_ﬁd optimized.
3. Like the heraldic shields of ancient knights, these morphemes were painted onto the names of scientific technologies to proclaim
one’s history and achievements to friends and enemies alike.
4. The historian Robert Proctor at Stanford University calls the suffix '-tron’, along with -matic’ and "-stat’, embodied symbols.
5. To gain the suffix was to acquire a proud and optimistic emblem of the electrgﬁé nd atomic age.

Answer:2 y J—-
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// - //(,--' ~
Explanation: / / (! ))
o \ \_1,/ /

Option 4 and option 5 are related as both statement start with a suffix. / /

/ ~ _’.)_./
While option 3 is a continuation of the idea in option 3 // /,,// ﬂ/

Option 5 says that the suffix signifies pride, while option 3 elaborates o/n\ is anp/xpla|§pow it is displayed as pride to friends and
families alike. Hence 53 is a logical block. \ \b\ /Ql

Among all the statements, 4 is the only one which doesn't have a pronoun or a t\QneSmdlcatan the presence of a preceding statement.
While 4 opens the statement, it must be succeeded by 1 as the terrﬁs*eag\r]ot be explalned at the end.

The logical coherence of this para jumble is 4(Introduction of terms)- 1(E>2pla\hat§>n of terms)-5(Consequence of terms(Pride))-

3(Elaboration of consequence) @

Statement 2 speaks about modernism and that every phenomenbﬂm asily grasped. It is unrelated to the context of the passage
and a misfit. ——

Hence, option 2 is the odd one out ‘

L, —
Da\l ée CAT Practice Tests

Question 26

/‘
The four sentences (labelled 1, 2, 3, 4) glvpp b>elow when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences al d key in the sg(,uence of the four numbers as your answer.
1. People with dyslexia have difficulty with'print-readin and people with autism spectrum disorder have difficulty with mind-reading.
2. An example of a lost cognitive instinct |§\ﬁ’nqd read{:g our capacity to think of ourselves and others as having beliefs, desires,
thoughts and feelings. =
3. Mind-reading looks increasingly like literacy, a skill we know for sure is not in our genes, since scripts have been around for only
5,000-6,000 years. ="
4. Print-reading, like mind- reaéfng vﬂrm&acnqiss cultures, depends heavily on certain parts of the brain, and is subject to

developmental disorders. [/ / )\N

Answer:2341 N
(7
| |
Explanation: N \
Statement 1 displays a contrast of 2 kinds of reading. Logically these reading types must be defined before their negatives are discussed.

This indicates that both stateme\@Z and 4 necessarily precede statement 1

Statement 4 9@6’1 form a logical block as statement 4 introduces the idea of developmental disorders while statement 1 cites example
of such disqf'(l,fers

Statement ¢dannot be or}émng as it has a phrase "like mind reading". While, Statement 3 can neither be an opening nor closing

statement. &_:
/

Hence, statement 2 is a good introductory statement as it starts by describing mind reading and statement 3 extends the idea of
mindreading. As 3 doesn't fit anywhere else, it has to necessarily follow statement 2

Hence, the correct order is 2341

Question 27 //

The four sentences (labelled 1, 2, 3, 4) given below, when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences and key in the sequence of the four numbers as/yom’inswer

1. Metaphors may map to similar meanings across languages, but theil/'f subtle dif ererir,és can have a profound effect on our
understanding of the world. / \\'\ )

inlh/e//éontext of its source, is more accurately
flowers, enjoying a moment that is rooted in

2. Latin scholars point out carpe diem is a horticultural metaphor that£ p
translated as “plucking the day,” evoking the plucking and gathering )Gf rip ng/frﬁJTs\
the sensory experience of nature, unrelated to the force implied in gﬁi .. ("
3. The phrase carpe diem, which is often translated as “seize the da'g:fdl\ sm\ibéoinfyy' g philosophy, has gone on to inspire

countless people in how they live their lives and motivates us to see the world. a li ifferently from the norm
4. It's an example of one of the more telling ways that we mistranslate metaphors‘from one language to another, revealing in the
process our hidden assumptions about what we really value. f X _\
Answer:3241 R 7
<-:\‘\\
Ny
Explanation: EE ’/ J
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Statement 3 and 2 form a natural block. While statement 3 describes "carpe diem", statement 4 explains how every language has subtle
differences in its essence and interpretationétatemenf\ says "its an example of" suggesting to the logical block 32 which shows
misinterpretation of metaphor. Hence, 324 fo ms“ahloc Whue—stafement 1 can serve as both opening as concluding closing statement.
Both the sequesnces 3241 and 1324 seem accurate: \hh\oLJgh CAT 2019, considered 3241 as the final answer to this parajumble with

statement 1 concluding the paragragh. s
<

Question 28 O
The four sentences (labelled 1, 2, 3, 4) gl\/en below, when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences a‘w{ key in the séquence of the four numbers as your answer.
1. We'll all live under mob rule until then, v h\lgh doesn ){elp anyone.
2. Perhaps we need to learn to condense the* feedbacl( we receive online so that 100 replies carry the same weight as just one.
3. As we grow more comfortable with social media conversations being part of the way we interact every day, we are going to have to
learn how to deal with legitimate. criticism.
4. A new norm will arise wher?i/t’ls cbns_\yered unacceptable to reply with the same point that dozens of others have already.

A v
Answer:3241 {\ l\ /ffJ
N /

Explanation: I”H?
Statement 1 suggestgﬂgat we will live under mob-rule until a specific event occurs. Hence, it cannot be the opening statement.
Statement 2 is a suggéstonto deal with criticism.

Statement 3 is a good opeﬁ\ng Statement as it sets the agenda for the passage.

Statement 4 says that in the up‘&‘)\‘nlng future, repetitive criticism will not be permitted.

41 makes a glcal block as statement 4 talks about a specific event, where mob frenzy attitude is curtailed by eliminating repetitive
criticism. Urptll this occurs, we will live under mob-rule.
;’

Statement 3&&:: thepdssage that we need to learn to deal with criticism. While statement 2 extends the idea as to how one has to deal
with criticism pgrsonal level. Then, the author speaks about curtailing mob culture by censoring repetitive criticism.

Hence, the correct logical order is 3241

CAT Syllabus (Downloa}df DF)

Question 29 &
The passage given below is followed by four alternate summaries. Choqs’e the option thgt'bég(captures the essence of the passage.

Vance Packard’s The Hidden Persuaders alerted the public to the psycﬁo nalytical teb mques)n)sed by the advertising industry. Its
premise was that advertising agencies were using depth interviews to lid |fy idden /béﬁsun‘ier motivations, which were then used to
entice consumers to buy goods. Critics and reporters often wrongly 7ss ed th LPa ard was writing mainly about subliminal
advertising. Packard never mentioned the word subliminal, however and devo veryh le space to discussions of “subthreshold”
effects. Instead, his views largely aligned with the notion that |nd|V|@u/] tﬁt{ ve access to their conscious thoughts and
can be persuaded by supraliminal messages without their knowledge.

Packard held that advertising as a ‘hidden persuasion’ understéﬁds‘m\ hidden motivations of consumers and works at the
supraliminal level, though the people targeted have no awareness oFbeLﬁngrsuaded

Packard held that advertising as a ‘hidden persuasion’ buﬁd}\o&geopleg )onsmous thoughts and awareness, by understanding the
hidden motivations of consumers and works at the subliminal vél\—/

Packard argued that advertising as a ‘hidden persud\g\ion’ works at the supraliminal level, wherein the people targeted are aware of
being persuaded, after understanding thgh’@den mQtiyations of consumers and works.

\ =
Packard argued that advertising as a ‘hidden FE as}oii"Jnderstands the hidden motivations of consumers and works at the
subliminal level, on the subconscious level of the awa é\ss)of the people targeted.

Answer: A D

Vi d

( {
Explanation:

In this context, "Psychoanalytical analytlca hnique' y‘f}blles that the advertising agencies are adapting methods to tap into the
unconscious mind of the consumers. They ondﬂ/hng detailed interviews to identify hidden motivations.

Here, subliminal advertising represents some portion of the ad being difficult to comprehend or simply put, when one of the motives of
the ad is so subtle that it is d|ff/<;ult‘to~b@ understood by a layman.
L

L&
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While supraliminal advertlsmg_pan qa clearix‘cencelved by most people.

Packard claims that the 'Hidden pers\ uaders’use supraliminal advertising to entice customers by tapping into consumers without their
knowledge. (....can be Persuaded by s‘urrrahmmal messages without their knowledge.)

Option B and D say th tthe method is subliminal, hence, it is incorrect
Option C says that péoplg‘a{e well aware about being persuaded, hence incorrect.
Option A is a wholesome shm@y of the method of persuation.

Question 30 >
The passagéf g"iven below is foIIowed by four alternate summaries. Choose the option that best captures the essence of the passage.

A dlstlngulshing feature of Ianguage is our ability to refer to absent things, known as displaced reference. A speaker can bring distant
referents to ﬁu%;nu:rlie’a/bsence of any obvious stimuli. Thoughts, not limited to the here and now, can pop into our heads for
unfathomable rea ./'i'hls ability to think about distant things necessarily precedes the ability to talk about them. Thought precedes
meaningful referential communication. A prerequisite for the emergence of human-like meaningful symbols is that the mental
categories they relate to can be invoked even in the absence of immediate stimuli.

A Displaced reference is particular to humans and thoughts pop into our heads for no real reason.

y

B Thoughts precede all speech acts and these thoughts pop up in our headé evenin the absepce of any stimulus.

C Thoughts are essential to communication and only humans have thé a |/ty to/hlnk (bout o&}ects not present in their surroundings.

I
D The ability to think about objects not present in our environment pvec d,[es th’e}dgue/ ment of human communication.

Answer: D / A {" / \‘)
& x\'-_\\\\x\q\‘\_ _r/{//
Explanation: ‘i'

The paragraph says that humans think about past occurrences suddenly wﬂhout\any immediate stimuli.

The author also says that thinking/thoughts about a certain distan pé‘st,k a necessity before one can speak about it.

He says that thoughts are a pre-requisite before one talks about it. He alsofgive_§ an example that various human-like symbols might have
emerged without any immediate stimuli. ) WY

Option A and C: There is no mention of specificity to humans m‘the“passage/})

Option B : "All speech acts" is a false generalisation. The passage says-that'speaking about distant past requires thinking about it first
Option D : It clearly captures the essence of the passaggand says that one needs to think about distant past events before talking about
them & \ \

Hence option D is correct. O \:\\ \ "’_'_,__':_-_—_7

Question 31 QIO

The four sentences (labelled 1, 2, 3, 4) given below, when\ﬁr\c;ﬁ‘_erly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences and key in the sequence of the four numbers as your answer.

1. If you've seen a little line of text on websites that says something like "customers who bought this also enjoyed that” you have
experienced this collaborative filtering firsthand. M

2. The problem with these algorithms is t ét{hey don'}/t;ake into account a host of nuances and circumstances that might interfere with
their accuracy. o ,

3. If you just bought a gardening book for your -cousin, you might get a flurry of links to books about gardening, recommended just for
you! - the algorithm has no way of knowmg you hate gardening and only bought the book as a gift.

4. Collaborative filtering is a m tlcal algorithm by which correlations and cooccurrences of behaviors are tracked and then used
to make recommendations. [/ Vs .y
LJI /.‘yr ) |
| |
Answer:4123 l\ \\_/: J

(7
Explanation: \
Statement 1 says "th Nc\dﬂaborative filtering". Here "this" refers to a likely preceding statement which explains about collaborative
filtering. While statement ‘Hs‘a:kgxample of collaborative filtering.

Statement 2 starts with "these algdrithms". This doesn't look like an opening statement as it describes a certain algorithm ("these").
Statement 3 is/ @xplaining about the flaw in the algorithm

Statement 4/’fm%1kes for a good opening statement

Statement 41| makes a logical block as the example in 1 refers to collaborative filtering of statement 4

Statement Zmust appeapsbon after the logical block of 41 as it contains the phrase "these algorithms". While statement 2 explains the
problem in the ‘statement 3 extends the idea of the problem.

Statement 4 : Introduces collaborative filtering
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Statement 1 : Given an example of collaborative filtering
Statement 2 : Speaks about the drawback in the algorithm
Statement 3 : Gives an example of the drawback y:

Hence the logically coherent order is 4123 -

=0,
Free Videos for CATTrer‘ar tlon\>

Question 32

Five sentences related to a topic are given below. Four of them can lje put toget?er’r gﬁm a meaningful and coherent short paragraph.
Identify the odd one out.

Choose its number as your answer and key it in. \/\v

1. His idea to use sign language was not a compl etely new idea as Native Ame\rlc?s used hand gestures to communicate with other
tribes.

2. Ancient Greek philosopher Aristotle, for example, observed thaGnewho are deaf are incapable of speech.

3. People who were born deaf were denied the right to sign a will as theywére ‘presumed to understand nothing; because it is not
possible that they have been able to learn to read or write.” _

4. Pushback against this prejudice began in the 16th centur)‘ Pedro P |;ce de Ledn created a formal sign language for the hearing
impaired. \.;\- 4

5. For millennia, people with hearing impairments encountered margmallzatlon because it was believed that language could only be
learned by hearing the spoken word. (

T

Answer:2 5. =
\\Q (\
. \x
Explanation: ~y

Statement 34 makes a logical block as statemient 4 speaks about "this prejudice” against deaf people. While statement 3 highlights the
prejudice by saying that they were conS|dere;d to be dumb and not allowed to sign a will.

The idea of sign language is continued in Lt@tement 1 Whgre the pronoun "he" refers to pedro and the statement discusses about the
origin of the sign language. \\ /j/

Statement 5 is a good opening statement as it |ntroduces the idea of discrimination against deaf and this idea is continued by an
example in statement 3. Hence these statements can be arranged in the order 5341.

Statement 2 is a good standal(dné op?ﬁm\g statement Yet, this statement cannot be succeeded by any of the other statements asitis a

misfit in the paragraph. | / ])
!

Hence statement 2 is the odd one oht

\_/

Question 33 7

Wi
The passage given belﬁw is followed by four alternate summaries. Choose the option that best captures the essence of the passage.
"‘«-\.L

Physics is a pure science thatsggks to understand the behavior of matter without regard to whether it will afford any practical benefit.
Engineering is the correlative applied science in which physical theories are put to some specific use, such as building a bridge or a
nuclear react9r,Eng|neers obviously rely heavily on the discoveries of physicists, but an engineer's knowledge of the world is not the
same as

the physms{ 's knowledge. /In fact, an engineer's know-how will often depend on physical theories that, from the point of view of pure
physics, are \false There ,a}é some reasons for this. First, theories that are false in the purest and strictest sense are still sometimes
very good app Qleathns to the true ones, and often have the added virtue of being much easier to work with. Second, sometimes the
true theories

apply only under highly idealized conditions which can only be created under controlled experimental situations. The engineer finds
that in the real world, theories rejected by physicists yield more accurate predictions than the ones that they accept.

A
Though engineering draws heavily from pure science, it contributes to know!‘eéfg by incorporating the constraints and conditions in
P

the real world. /
=R,
B Engineering and physics fundamentally differ on matters like bundlnp a bridge or a h{zfclear r)ajctor

[
The relationship between pure and applied science is strictly linear; wi
other way round. |

/the pure spf\cegfr’ectlng applied science, and never the

[\
D The unique task of the engineer is to identify, understand, and interpret de‘s\gn cp}'stralnts to produce a successful result.

Answer: A / \ SV
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Explanation: Q \

The passage says that pure science intends to discover without any end g |nd While engineers use these benefits for practical
applications. The author says that the science behind these pg ctical appllca ns are often considered false by pure science since they
are approximated or not applied as per ideal conditions. In any s even th gh they are rejected, these approximated science theories
find lot of practical applications in everyday life.

Option A is correct. By diluting science, these theories e\n‘e put into practical benefits. Hence, option A is correct

Option B is incorrect as no such implication ¢a Q e dra \T’tne_};%ssage

Option C is incorrect. Linear relationship indicates brcefaln theory is rejected by pure science, it is bound to be rejected by applied
science too. This is clearly not the case as engineers us \:ejselwd theories for practical benefits.

Option D speaks only about engineers and has>no reference to sciences or the main point of the paragraph. The paragraph intends to
compare the functionalities of scientists and’‘engineers while option D is specific to engineers and does not encapsulate the essence of
the paragraph. '

paragrap . D

Hence, by way of elimination Option Ais t \W/é summary
Question 34 =

Five sentences related to a topic : iven below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out. Choc}édftgi}gﬁher as your answer and key it in.
Ry

1. One argument is that actors that ﬂo not m‘w'ithin a single, well-defined category may suffer an “illegitimacy discount”.
2. Others believe that complex |dedtiges confuse audiences about an organization’s role or purpose.

3. Some organizations have comple\x andr m/ultldlmenswnal identities that span or combine categories, while other organizations
possess narrow |dent|yi§§.

4. Identity is one of the most important features of organizations, but there exist opposing views among sociologists about how
identity affects organ al performance.

5. Those who think that co identities are beneficial point to the strategic advantages of ambiguity, and organizations’ potential to

differentiate thgmselves from co " petitors.

&

Answer:1 f / .
\ “-\ .r'llf"

Explanation m;/.f

Statement 1 says actors who do not fit within a certain category such as "humour", "action" etc will face certain difficulty

Statement 2 has a negative tone. It starts with "others" indicating that the preceding statement is likely to have a positive tone.

Statement 4 is a good opening statement as it sets the agenda for the passage by saying that there are opposing views with regard to
effects of identities in organisations.

Statement 5 is a favourable view to complex identities, a positive tone. Hence Z is a'logical block.

Statement 3 cannot open the paragraph as the succeeding statement 4 w be disconne the central idea of statement 1.
Statement 3 can neither be a conclusion as it is too generic. Hence, stafrzt 3 c n Iogféallyj ur only after statement 4 and before the

logical block 52.

Statement 1 is unrelated to organisational identity as it speaks about stereofyb g tors
Hence statement 1 is odd one out /

7

4 - Idea of organisational identity introduced
3 - One of the features of organisational identities explained
52 - Two opposing views expressed

Best Online Coach}nﬁ?;for CAT
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Instructions

A supermarket has to place 12 items (coded tol)in s‘ Ives numbered 1 to 16. Five of these items are types of biscuits, three are types
of candies and the rest are types of savouries. @ﬁlyene Gaﬁ“b’]éept in a shelf. Items are to be placed such that all items of same
type are clustered together with no empty shelf bety \n ;\Iems of the same type and at least one empty shelf between two different types
of items. At most two empty shelves can have consecutn?en bers.

The following additional facts are known. =

1. A and B are to be placed in consecutlvely«numbered shelves in increasing order.

2.1and J are to be placed in consecutlvely numbered shelves both higher numbered than the shelves in which A and B are kept.
1 m
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3. D, E and F are savouries and are to be placed in consecutively numbered shelves in increasing order after all the biscuits and candies.
4. K is to be placed in shelf number 16.

5. L and J are items of the same type, while H fs-an-item of a different type.

6. C is a candy and is to be placed in a shelf preceded by two empty shelves.

7. L is to be placed in a shelf preceded-by exactly one empty shelf.

Question 35

In how many different ways can the items be arranged on the shelves?

D 1

Answer: A

Explanation:
The total number of biscuits = 5, the total number of candies =3 and the total number of savouries = 12-(3+5)=4

Representing the candies as C, biscuits as B and savories as S. K is to be placed in shelf number 16. D, E and F are savouries and are to
be placed in consecutively numbered shelves in increasing order after all the biscuijts and candies. Since there is no empty shelf between
the items of same type, D,E,F and K are savouries and placed at 13,14,15 and 16«espectively. This can be tabulated as follows:

Shelf No 1 2 3 4 5 -] 7 8 a 10 11 12 13 14 15 16
ltem Code o E F K
ltem Type 5 5 5 5

The shelf 12 will be empty.
It is given that items are to be placed such that all items of same type are clustefed together.
From 1, A and B are to be placed in consecutively numbered shelves in increasing-order.

From 6, C is a candy and is to be placed in a shelf preceded by two empty shelves and from 7, L is to be placed in a shelf preceded by
exactly one empty shelf.

Hence C and L are items of different types. Since C is a candy, L will be a-biseuit.
From 5, L and J are items of the same type, while H is an item-of a different type.
Since | and J are clustered together, |, J and L are biscuits and H is-a ¢andy-

So C,H are candies and |,J,L are biscuits. It is given that A, B are place consecutively. Hence A and B are items of same types. So A, B
should be biscuits because if they are candies, there will be 4 candies.

Hence, |,J,L,A,B are biscuits and C,H and G are ecandies.

Now there are two empty shelves before C and exactly-one'empty shelf before L, then the different cases can be tabulated as follows:

Case 1:

Shelf No 1 (2 |3 4 5 6 7 8 9 10 [11 |22 |13 |14 |15 |16
temCode |__ L |A B ol HiG [gH|___|D E F K
ltem Type IERE B B B . c c C R E 5 5 5
Case 2:

Shelf No 1 (2 |3 4 5 & 7 B 9 1w |11 (122 |13 |14 |15 |16
ftemCode |__|__|C HG [G/H [ __ [L A B i 1o E F K
Item Type _|__]c C C B B B B B |___|s 5 5 5

The number of arrangements for the first case = 2*2=4
The number of arrangements for the'second case = 2*2=4

The total number of arrangements = 4+4=8

Get MBA Exam Updates: Whatsapp "CAT" to 7661025559
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Question 36

Which of the following items is not a type of biscuit?

D G

Answer: D

Explanation:
The total number of biscuits = 5, the total number of candies =3 and the totalnumber-of savouries = 12-(3+5)=4

Representing the candies as C, biscuits as B and savories as S. K is t0 be placed in shelf number 16. D, E and F are savouries and are to
be placed in consecutively numbered shelves in increasing order after all the biscuits and candies. Since there is no empty shelf between
the items of same type, D,E,F and K are savouries and placed at 13,14,15 and 16 respectively. This can be tabulated as follows:

Shelf No 1 2 3 4 5 6 7 B8 9 10 11 12 13 14 15 16
temn Code ] E F K
lkem Type 5 5 5 5

The shelf 12 will be empty.
It is given that items are to be placed such that all items of same type.are clustered together.
From 1, A and B are to be placed in consecutively numbered shelves in increasing order.

From 6, C is a candy and is to be placed in asshelf preceded by two empty shelves and from 7, L is to be placed in a shelf preceded by
exactly one empty shelf.

Hence C and L are items of different types. Since C is a candy, L will be a biscuit.
From 5, L and J are items of the same type, while H is an item of a different type.
Since | and J are clustered together, |, J and/L are biscuits and H is a candy.

So C,H are candies and I,J,L are biscuits. It is given that A,/B are place consecutively. Hence A and B are items of same types. So A, B
should be biscuits because if they are candies;.there will'be 4 candies.

Hence, |,J,LLA,B are biscuits and C,H and G are candies.

Now there are two empty shelves-béfore C and exactly one empty shelf before L, then the different cases can be tabulated as follows:

Case 1:

shelf No 1 (2 |3 4 5 6 7 B 9 10 [11 |12 |13 |14 [15 |16
temCode | __ L |A B ol T = HiG [6H | ___ D E F K
Item Type IERE B B B . C [= c __|s 5 5 5
Case 2:

Shelf No 1 (2 |3 4 5 & 7 B 9 10 |11 (12 |13 |14 |15 |16
temCode |__ |__|C HiG [G/H | __ L A B ol [ o E F K
ltem Type _|__]¢ C C B B B B B |__ |s 5 5 5

G is a candy. Hence D is the.answer.
Question 37

Which of the following can represent the numbers of the empty shelves in a possible arrangement?
A 1,7,11,12

B 1,56,12

C 1,2,6,12

D 1,2,8,12
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Answer: C

Explanation:
The total number of biscuits = 5, the total number of candies =3 and the total number of‘'savouries = 12-(3+5)=4

Representing the candies as C, biscuits as B and savories as S. K is to be placed\in'shelf number 16. D, E and F are savouries and are to
be placed in consecutively numbered shelves in increasing order after.all the biscuits and candies. Since there is no empty shelf between
the items of same type, D,E,F and K are savouries and placed at 13,14,15 and 16 respectively. This can be tabulated as follows:

Shelf No 1 2 3 4 5 =1 7 8 9 10 11 12 13 14 15 16
ltem Code o E F K
ltem Type 5 5 5 5

The shelf 12 will be empty.
It is given that items are to be placed such that.all items,of same type are clustered together.
From 1, A and B are to be placed in consecutively numbered-shelves in increasing order.

From 6, C is a candy and is to be placed in a shelf preceded-by-two empty shelves and from 7, L is to be placed in a shelf preceded by
exactly one empty shelf.

Hence C and L are items of different types/Since C is a candy, L will be a biscuit.
From 5, L and J are items of the same type, while H is an item of a different type.
Since | and J are clustered together, |, J and'L are.biseuits and H is a candy.

So C,H are candies and I,J,L are biscuits. It is given that A, B are place consecutively. Hence A and B are items of same types. So A, B
should be biscuits because if they-are.candies, there will be 4 candies.

Hence, I,J,L,A,B are biscuits and' C,H and G.are.candies.

Now there are two empty shelves before C and exactly one empty shelf before L, then the different cases can be tabulated as follows:

Case 1:

Shelf No 1 [2 |3 4 5 3 7 B 9 10 [11 [12 [13 [14 15 [ 16
temCode |__ L |A ] ol HiG [6H|___|D E F K
Item Type IERE B B B . C C C R E 5 5 5
Case 2:

Shelf No 1 (2 |3 4 5 & 7 B 9 1w |11 (12 |13 |14 |15 |16
temCode |__ |__|C HiG [G/H | __ L A B ol 1o E F K
Item Type _|__]¢c C C B B B B B |___|s 5 5 5

From the table(case 2),only 1,2,6 and 12 are empty in the same arrangement. Hence, C is the answer.
Question 38

Which of the following statements is necessarily true?

A All biscuits are kept before candies.
B There are two empty shelves between the biscuits and the candies.
C All candies are kept before biscuits.

D There are at least four shelves between items B and C.

Answer: D

Explanation:
The total number of biscuits = 5, the total number of candies =3 and the total number of savouries = 12-(3+5)=4

Representing the candies as C, biscuits as B and savories as S. K is to be'placed in shelf number 16. D, E and F are savouries and are to
be placed in consecutively numbered shelves in increasing order after all the'biscuits and candies. Since there is no empty shelf between
the items of same type, D,E,F and K are savouries and placed at.13;14,15 and 16 respectively. This can be tabulated as follows:

Shelf No 1 2 3 4 5 =1 7 8 9 10 11 12 13 14 15 16
ltem Code o E F K
ltem Type 5 5 5 5
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The shelf 12 will be empty.
It is given that items are to be placed such that all items ef Ssame type are clustered together.
From 1, A and B are to be placed in consecutively numbered shelves in increasing order.

From 6, C is a candy and is to be placed in/a’shelf preceded by two empty shelves and from 7, L is to be placed in a shelf preceded by
exactly one empty shelf.

Hence C and L are items of different types.'Since C is_a'candy, L will be a biscuit.
From 5, L and J are items of the same type, while H is an item of a different type.
Since | and J are clustered together; I;:J and L are biscuits and H is a candy.

So C,H are candies and I,J,L are'biscuits. Itis given that A, B are place consecutively. Hence A and B are items of same types. So A, B
should be biscuits because if they are candies, there will be 4 candies.

Hence, |,J,L,A,B are biscuits and C,H and-G are candies.

Now there are two empty shelves before C and exactly one empty shelf before L, then the different cases can be tabulated as follows:

Case 1:

Shelf No 1 (2 [3 4 5 3 7 B 9 10 [11 [12 |13 |14 |15 |16
temCode |__|L |A B T T HiG [GH|___|D E F K
Item Type IERE B B B . C C c _|s 5 5 5
Case 2:

Shelf No 1 (2 |3 4 5 & 7 B 9 10 |11 (12 |13 |14 |15 |16
temCode |__ |__|C HiG [/ | __ L A B ol [ lo E F K
ltem Type _|__]e cC cC B B B B B |__ [s 5 5 5

Option A and C are wrong as candies can come before biscuits and vice versa. B is not necessarily true as there can be one empty shelf
too as shown in the table. Option D is true as there are at least 4 shelves between B and C. Hence D is the answer.

Important Verbal Ability Questions.for CAT (Download PDF)

Instructions

Six players - Tanzi, Umeza, Wangdu, Xyla, Yonita and Zeneca competed'in an archery tournament. The tournament had three compulsory
rounds, Rounds 1 to 3. In each round every player shot an arrow at a target. Hitting the/centre of the target (called bull's eye) fetched the
highest score of 5. The only other possible scores that a player could achieve wefe4, 3;;2:and 1. Every bull's eye score in the first three
rounds gave a player one additional chance to shoot in the bonus rounds, Rounds 4 to 6. The possible scores in Rounds 4 to 6 were
identical to the first three.

A player’s total score in the tournament was the sum of his/her scores in all rounds played by him/her. The table below presents partial
information on points scored by the players after completion of the'tournament. In the table, NP means that the player did not participate
in that round, while a hyphen means that the player participated in thatround and the score information is missing.

Round-1 | Round-2 | Round-3 | Round-4 | Round-5 | Round-6
Tanzi - 4 - 5 NP NP
Umeza - - - 1 2 NP
Wangdu - 4 - NP NP NP
Xyla - - - 1 5 -
Yonita - - 3 5 NP NP
Zeneca - - - 5 5 NP

The following facts are also known.

1.Tanzi, Umeza and Yonita had the same total'score.

2.Total scores for all players, except one, were in multiples of three.

3.The highest total score was one more than double of the lowest total score.
4.The number of players hitting bull’s eye in Round 2 was’double of that in Round 3.
5.Tanzi and Zeneca had the same score in Round T but different scores in Round 3.

Question 39

What was the highest total score?
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A 25

B 21

C 24

D 23

Answer: A

Explanation:

Round-1 | Round-2 | Round-3 | Round-4 | Round-5 | Round-6

Tanzi - 4 - 5 NP NP
Umeza - - - 1 2 NP
Wangdu - 4 - NP NP NP
Xyla - - - 1 3 _
Yonita - - 3 5 NP NP
Zeneca - - - 5 5 NP

It is given that every bull's eye score in the first three rounds gave a playerone additionalchance to shoot in the bonus rounds, Rounds 4
to 6, which means Tanzi scored Bull's eye only once in the first 3 rounds because/she participated only once in round 4 to 6.

Similarly, Umeza scored Bull's eye exactly 2 times in the first 3 rounds. Wangdu did not score Bull's eye in the first three rounds and so
on.

Now from 1, Tanzi, Umeza and Yonita had the same total score.

So, Total score of Tanzi will be 4+5+5+a=14+a, (She scored Bull's eyé(a score of 5) in exactly one round and a is the unknown score)
Total score of Umeza = 1+2+5+5+b = 13+b  (She scored Bull's eye(a score.of'5) in exactly 2 rounds and b is the unknown score)
Total score of Yonita = 3+5+5+c=13+c (She scored Bull's eye(a'score of 5) in/exactly one round and c is the unknown score)

Now 14+a=13+b=13+c,

Also it is given that total scores for all players, except one, were in multiples of three, so these three will have to be a multiple of 3.

So, (a,b,c) can be either (1,2,2) or (4,5,5) in the 'same order, But the value (5,5) for b and c is not possible. (Umeza scored Bull's eye in
exactly 2 rounds and Yonita in exactly 1 round)

Hence, a=1,b=2 and c=2. So each of Tanzi, Umeza and Yonita.had total score of 15.

Tabulating the data, we have

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 1/5 4 1/5 5 NP NP 15
Umeza 5,/5/2 5/5/2 5/5/2 1 2 NP 15
Wangdu 1/2/3/4 4 1/2/3/4 NP NP NP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2/5 2/5 3 5 NP NP 15
Zeneca - - - 5 5 MNP -

From 5, Tanzi and Zeneca had'the same score.in Round 1 but different scores in Round 3.

Zeneca score Bull's eye 2 times in round 1 t0 3. If Tanzi scored 1 in round 1, then Zeneca also has to score 1 in round 1, which means
both Tanzi and Zeneca scores in round-3.will be 5, which violates 5. Hence Tanzi scored 5 in round 1 and Zeneca also scored the same in
round 1.So the new tableis:

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 NP NP 15
Umeza 5/5/2 5/5/2 5/5/2 1 2 NP 15
Wangdu 1/2/3/4 4 1/2/3/4 MNP MNP MNP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2/5 2/5 3 5 NP NP 15
Zeneca 5 sH2/3/8) | 5/12/3/4) 5 5 MP -

From 4, the number of players hitting bull’s eye in Round 2 was double of that in Round 3.
So, in round 3 either 1 or2 Bull's eye can be scored and in round 2, 2 or 4 Bull's eye can be scored.

Case 1: If only 1 Bull's eye is scored in the round 3, then in round 3 Umeza will score 2 and Zeneca will score 2/3/4 in round 3, which
means both will score 5 in round 2. So minimum Bull's eye in round 2 will be 3. (Umeza, Zeneca and Xyla)
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Hence this case is rejected.

Case 2: 2 Bull's eye were scored in round 3 and 4 Bull's eye were scored in round 2. So in round 2 Umeza, Yonita and Zeneca scored

5. This can be tabulated as:

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 NP MNP 15
Umeza 5/2 5 5/2 1 2 MP 15
Wangdu 1/2/3/4 4 1/2/3/4 NP NP NP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2 5 3 5 NP MNP 15
Zeneca 5 5 [2/3/4) 5 5 MP -
In round 3, 2 Bull's eye can only be scored by Xyla and Umeza.
Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 MNP NP 15
Umeza 2 5 5 1 2 MNP 15
Wangdu 1/2/3/4 4 1/2/3/4 NP NP MP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2 5 3 5 MNP NP 15
Zeneca 5 s (2/3/4) 5 5 NP 22-24

The highest scorer can be either Xyla or Zeneca. The lowest scorer will be Wangdu.
1.Consider Zeneca is the highest scorer.

From 3, the highest total score was one more than double of the lowest total score. So the only possible score for Zeneca is 23 and that
for Wangdu is 11. (11*2+1=23)

But this will violate condition 2, since both Zeneca and Wangdu do not have their scores as multiples of three in this case.
Hence, Xyla will be the highest scorer. The only possible tetal score for Xyla will be 25, and that for Wangdu is 12(4+4+4). (12*2+1=25)

Since Xyla already has non-multiple of 3 as.toetal score,”Zeneca will have 24 as the total score. The complete table is:

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 NP NP 15
Umeza 2 ] o 1 2 MNP 15
Wangdu 4 4 4 MP MP MNP 12
¥yla 5 5 5 1 5 4 25
Yonita 2 5 3 5 MNP NP 15
Zeneca 5 5 4 5 NP 24
The highest score is 25.
Question 40
What was Zeneca's total score?
A 21
B 22
C 23
D 24
Answer: D
Explanation:
Round-1 | Round-2 | Round-3 | Round-4 | Round-5 | Round-6
Tanzi - 4 - 5 NP NP
Umeza - - - 2 NP
Wangdu - 4 - NP NP NP
Xyla - - - 1 5 -
Yonita - - 3 5 NP NP
Zeneca - - - 5 5 NP

It is given that every bull's eye score in the first three rounds gave a,player one additional chance to shoot in the bonus rounds, Rounds 4
to 6, which means Tanzi scored Bull's eye only once in the first 3 rounds'because she participated only once in round 4 to 6.
Similarly, Umeza scored Bull's eye exactly 2 times in the first 3 rounds. Wangdu.did not score Bull's eye in the first three rounds and so
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on.

Now from 1, Tanzi, Umeza and Yonita had the same total score.

So, Total score of Tanzi will be 4+5+5+a=14+a, (She scored Bull's eye(a score of 5) in exactly one round and a is the unknown score)
Total score of Umeza = 1+2+5+5+b = 13+b (She scored\Bull's eye(a score of 5) in exactly 2 rounds and b is the unknown score)
Total score of Yonita = 3+5+5+c=13+c (She scored Bull's eye(a score'of 5) in exactly one round and c is the unknown score)

Now 14+a=13+b=13+c,

Also it is given that total scores for all players,.except one, were'in multiples of three, so these three will have to be a multiple of 3.

So, (a,b,c) can be either (1,2,2) or (4,5,5) in the same order. But the value (5,5) for b and c is not possible. (Umeza scored Bull's eye in
exactly 2 rounds and Yonita in exactly 1 round)

Hence, a=1,b=2 and c=2. So each of Tanzi, Umeza andYonita had total score of 15.

Tabulating the data, we have

Round 1 Round 2 Round 3 Round 4 Round 5 Round 6 Total
Tanzi 1/5 4 1/5 5 MNP NP 15
Umeza 5/5/2 5/5/2 5/5/2 1 2 NP 15
Wangdu 1/2/3/4 4 1/2/3/4 MP NP NP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2/5 2/5 3 5 MNP NP 15
Zeneca - - - 5 5 NP -

From 5, Tanzi and Zeneca had the same score in Round 1 but different scores in Round 3.

Zeneca score Bull's eye 2 times'in round 1 to 3. If Tanzi scored 1 in round 1, then Zeneca also has to score 1 in round 1, which means
both Tanzi and Zeneca scores in round 3 will be 5, which violates 5. Hence Tanzi scored 5 in round 1 and Zeneca also scored the same in
round 1.So the new table is:

Round 1 Round 2 Round 3 Round 4 Round 5 Round 6 Total
Tanzi 5 4 1 5 NP NP 15
Umeza 5/5/2 5/5/2 5/5/2 1 2 MP 15
Wangdu 1/2/3/4 F 1/2/3/4 NP NP NP 6-12
¥yla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2/5 2/5 3 5 MNP MNP 15
Zeneca 5 5/(2/3/4) 5/(2/3/4) 5 5 MNP -

From 4, the number of players hitting bull's eye in Round 2 was double of that in Round 3.
So, in round 3 either 1 or 2 Bull's eye can be scored and in round 2, 2 or 4 Bull's ey€ can be scored.

Case 1: If only 1 Bull's eye is scored in the round 3, then in round 3 Umeza will score 2 and Zeneca will score 2/3/4 in round 3, which
means both will score 5 in round 2. So minimum Bull's eye in round 2 willbe 3. (Umeza, Zenecaand Xyla)

Hence this case is rejected.

Case 2: 2 Bull's eye were scored in round 3 and 4 Bull's eye were scored in'round 2. So/in round 2 Umeza, Yonita and Zeneca scored
5. This can be tabulated as:

Round 1 Round 2 Round 3 Round 4 Round 5 Round 6 Total
Tanzi 5 4 1 =] NP MNP 15
Umeza 5/2 5 5/2 1 2 MNP 15
Wangdu 1/2/3/4 4 1/2/3/4 NP MP MP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2 5 3 =] NP MNP 15
Zeneca 5 5 (2/3/4) 5 5 MP -

In round 3, 2 Bull's eye can only be scored by Xyla and Umeza.

Round 1 Round 2 Round 3 Round 4 Round 5 Round 6 Total
Tanzi 5 4 1 5 MNP NP 15
Umeza 2 5 5 1 2 MNP 15
Wangdu 1/2/3/4 P 1/2/3/4 NP NP NP 6-12
Yyla 5 5 5 1 5 1/2/3/4/5 27-76
Yonita 2 5 3 5 MNP NP 15
Zeneca 5 s (2/3/4) 5 5 MP 22-24

The highest scorer can be either Xyla or Zenega. The lowest scorer will be Wangdu.
1.Consider Zeneca is the highest scorer.

From 3, the highest total score was one more than double/of the lowest total score. So the only possible score for Zeneca is 23 and that
for Wangdu is 11. (11*2+1=23)
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But this will violate condition 2, since both Zeneca and Wangdu do not have their scores as multiples of three in this case.
Hence, Xyla will be the highest scerer-.The only possible total score for Xyla will be 25, and that for Wangdu is 12(4+4+4). (12*2+1=25)

Since Xyla already has non-muiltiple of 3 as total score. Zeneca will have 24 as the total score. The complete table is:

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 MP NP 15
Urmeza 2 5 5 1 2 MNP 15
Wangdu 4 4 4 NP NP NP 12
Xyla 5 5 5 1 5 4 25
Yonita 2 5 3 MP MNP 15
Zeneca 5 5 4 5 5 NP 24
Zeneca total s€ore is 24.
Question 41
Which of the following statements is true?
A Xyla's score was 23.
B Zeneca's score was 23.
C Zeneca was the highest scorer.
D Xyla was the highest scorer.
Answer: D
Explanation:
Round-1 | Round-2 | Round-3 | Round-4 | Round-5 | Round-6
Tanzi - 4 - 5 NP NP
Umeza - - - 2 NP
Wangdu - 4 - NP NP NP
Xyla - - - 1 5 -
Yonita - - 3 5 NP NP
Zeneca - - - 5 5 NP

It is given that every bull's eye score in the first three rounds gavea player one additional chance to shoot in the bonus rounds, Rounds 4
to 6, which means Tanzi scored Bull's eye only once in the first 3 roundsbecause she participated only once in round 4 to 6.

Similarly, Umeza scored Bull's eye exactly 2 times in the first 3 rounds. Wangdu did not score Bull's eye in the first three rounds and so
on.

Now from 1, Tanzi, Umeza and Yonita had the same total\score.

So, Total score of Tanzi will be 4+5+5+a=14+a, (She scoredBull's eye(a score of 5) in exactly one round and a is the unknown score)
Total score of Umeza = 1+2+5+5+b = 13+b  (She scored Bull's eye(a score of 5) in exactly 2 rounds and b is the unknown score)
Total score of Yonita = 3+5+5+c=13+c (She/scored Bull's eye(a score of 5) in exactly one round and c is the unknown score)

Now 14+a=13+b=13+c,

Also it is given that total scores for all players, exeept one, were in multiples of three, so these three will have to be a multiple of 3.

So, (a,b,c) can be either (1,2,2) or (4,5,5) in the same order. But the value (5,5) for b and c is not possible. (Umeza scored Bull's eye in
exactly 2 rounds and Yonita in exactly-1.round)

Hence, a=1,b=2 and c=2. So each of Tanzi,Umeza and Yonita had total score of 15.

Tabulating the data, we have

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 1/5 4 1/5 5 NP NP 15
Umeza 5/5/2 5/5/2 5/5/2 1 2 NP 15
Wangdu 1/2/3/4 4 1/2/3/4 MNP MNP NP B6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2/5 2/5 3 5 NP NP 15
Zeneca - - - 5 5 MNP -

From 5, Tanzi'and Zeneca had the same score in Round 1 but different scores in Round 3.
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Zeneca score Bull's eye 2 times in round 1 to 3. If Tanzi scored 1 in round 1, then Zeneca also has to score 1 in round 1, which means
both Tanzi and.Zeneca-Scores in round 3 will be 5, which violates 5. Hence Tanzi scored 5 in round 1 and Zeneca also scored the same in

round 1.So the new table is:

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 NP NP 15
Umeza 5/5/2 5/5/2 5/5/2 1 2 NP 15
Wangdu 1/2/3/4 4 1/2/3/4 MNP MNP MNP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2/5 2/5 3 5 NP NP 15
Zeneca 5 sH2/3/8) | 5/12/3/4) 5 5 MP -

From 4, the number of players hitting bull's eye in Round 2 was double of that in Round/3.

So, in round 3 either 1 or 2 Bull's eye can be scored and in round 2, 2 or/4 Bull's eye can be.scoréd.

Case 1: If only 1 Bull's eye is scored in the round 3, then in round 3 Umeza will score2-and Zeneca will score 2/3/4 in round 3, which
means both will score 5 in round 2. So minimum Bull's eye in round 2/will be 3. (Umeza, Zeneca and Xyla)

Hence this case is rejected.

Case 2: 2 Bull's eye were scored in round 3 and 4 Bull's eye were scored in round|2.So in round 2 Umeza, Yonita and Zeneca scored
5. This can be tabulated as:

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 NP MNP 15
Umeza 5/2 5 5/2 1 2 MP 15
Wangdu 1/2/3/4 4 1/2/3/4 NP NP NP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2 5 3 5 NP MNP 15
Zeneca 5 5 [2/3/4) 5 5 MP -
In round 3, 2 Bull's eye can only be scored by Xyla-and Umeza.
Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 MNP NP 15
Umeza 2 5 5 1 2 MNP 15
Wangdu 1/2/3/4 4 1/2/3/4 NP NP MP 6-12
Kyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2 5 3 5 MNP NP 15
Zeneca 5 s (2/3/4) 5 5 NP 22-24

The highest scorer can be either Xyla or Zeneea. The lowest scorer will be Wangdu.
1.Consider Zeneca is the highest scorer.

From 3, the highest total score fvas one more than double of the lowest total score. So the only possible score for Zeneca is 23 and that
for Wangdu is 11. (11*2+1=23)

But this will violate condition 2, since'both Zeneca and Wangdu do not have their scores as multiples of three in this case.
Hence, Xyla will be the highest scorer. The only possible total score for Xyla will be 25, and that for Wangdu is 12(4+4+4). (12*2+1=25)

Since Xyla already has non-multiple of 3 as total score. Zeneca will have 24 as the total score. The complete table is:

Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total

Tanzi 5 4 1 5 MP NP 15
Ureza 2 5 5 1 2 NP 15
Wangdu 4 4 4 MP MP NP 12
Kyla 5 5 5 1 5 4 25
Yonita 2 5 3 MP NP 15
Zeneca 5 5 4 5 5 NP 24

Xyla was the highest scorer.

CAT Percentile Predictor

Question 42

What was Tanzi's score in Round 3?
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3

C
D 4
Answer: D
Explanation:
Round-1 | Round-2 | Round-3 | Round-4 | Round-5 | Round-6
Tanzi - 4 - 5 NP NP
Umeza - - - 1 2 NP
Wangdu - 4 - NP NP NP
Xyla - - - 1 5 -
Yonita - - 3 5 NP NP
Zeneca - - - 5 5 NP

It is given that every bull's eye score in the first,three rounds gave a player one additional chance to shoot in the bonus rounds, Rounds 4
to 6, which means Tanzi scored Bull's eye gnly once in the first 3 rounds because she participated only once in round 4 to 6.

Similarly, Umeza scored Bull's eye exactly|2 times in the first 3 rounds. Wangdu did not score Bull's eye in the first three rounds and so
on.

Now from 1, Tanzi, Umeza and Yonita had the-same total score.

So, Total score of Tanzi will be 4+5+5+a=14+a, (She scored Bull's eye(a score of 5) in exactly one round and a is the unknown score)
Total score of Umeza = 1+2+5#5+b =713+b. (She scored Bull's eye(a score of 5) in exactly 2 rounds and b is the unknown score)
Total score of Yonita = 3+5+5+c=13#¢ (She|scored Bull's eye(a score of 5) in exactly one round and c is the unknown score)

Now 14+a=13+b=13+c,

Also it is given that total scores for all players, except one, were in multiples of three, so these three will have to be a multiple of 3.

So, (a,b,c) can be either(1,2,2) or (4,5,5) in the same order. But the value (5,5) for b and ¢ is not possible. (Umeza scored Bull's eye in
exactly 2 rounds and Yonita in-exactly 1 round)

Hence, a=1,b=2 and c=2. So eachof Tanzi, Umeza and Yonita had total score of 15.

Tabulating the‘data, we have

Round 1 Round 2 Round 3 Round 4 Round 5 Round 6 Total
Tanzi 1/5 4 1/5 5 MNP NP 15
Umeza 5/5/2 5/5/2 5/5/2 1 2 NP 15
Wangdu 1/2/3/4 3 1/2/3/3 NP NP NP 6-12
Kyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2/5 2/5 3 5 MNP NP 15
Zeneca - - - 5 5 MNP -

From 5, Tanzi and Zeneca had the same score in Round 1 but different scores in Rotdnd 3.

Zeneca score Bull's eye 2 times in round 1 to 3. If Tanzi scored 1 in round 1, then Zeneca also has to score 1 in round 1, which means
both Tanzi and Zeneca scores in round 3 will be 5, which violates 5. Hence Tanzi scored 5_in.round 1 and Zeneca also scored the same in
round 1.So the new table is:

Round 1 Round 2 Round 3 Round 4 Round 5 Round 6 Total
Tanzi 5 4 1 5 NP NP 15
Umneza 5/5/2 5/5/2 5/5/2 1 2 NP 15
Wangdu 1/2/3/4 P 1/2/3/4 NP NP NP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2/5 2/5 3 5 MP MP 15
Zeneca 5 s/(2/3/4) | 5/12/3/4) 5 5 NP -

From 4, the number of players hitting bull's eye in Round 2 was double of that in Round 3.
So, in round 3 either 1 or 2 Bull's eye can be scored and in round 2, 2 or 4-Bull's eye can be scored.

Case 1: If only 1 Bull's eye is scored in the round 3, then in round 3 Umeza will score 2 and Zeneca will score 2/3/4 in round 3, which
means both will score 5 in round 2. So minimum Bull's eye in round-2 will be 8/ (Umeza, Zeneca and Xyla)

Hence this case is rejected.

Case 2: 2 Bull's eye were scored in round 3 and 4 Bull's 'eye were scored in round 2. So in round 2 Umeza, Yonita and Zeneca scored
5. This can be tabulated as:
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Round 1 Round 2 Round 3 Round 4 Round 5 Round 6 Total
Tanzi 5 4 1 5 NP MNP 15
Umeza 5/2 5 5/2 1 2 MP 15
Wangdu 1/2/3/4 4 1/2/3/4 MP NP MP 5-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2 5 3 =] NP MNP 15
Zeneca 5 5 (2/3/4) 5 5 MP -
In round 3, 2 Bull's eye can only be scored by Xyla and Umeza.
Round 1 Round 2 Round 3 Round 4 Round 5 Round & Total
Tanzi 5 4 1 5 MNP NP 15
Umeza 2 5 5 1 2 MNP 15
Wangdu 1/2/3/4 4 1/2/3/4 NP NP NP 6-12
Xyla 5 5 5 1 5 1/2/3/4/5 22-26
Yonita 2 5 3 5 MNP NP 15
Zeneca 5 s (2/3/4) 5 5 NP 22-24

The highest scorer can-be'either Xyla or Zeneca. The lowest scorer will be Wangdu.
1.Consider Zeneca is the highest scorer.

From 3, the highest total score was one more than double of the lowest total score. So the only possible score for Zeneca is 23 and that
for Wangdu is'11. (11*2+1=23)

But this will violate condition 2, since both Zeneca and Wangdu do not have their scores as multiples of three in this case.
Hence, Xyla willhe the highest scorer. The only possible total score for Xyla will be 25, and that for Wangdu is 12(4+4+4). (12*2+1=25)

Since Xyla already has non-multiple of 3 as total score. Zeneca will have 24 as the total score. The complete table is:

Round 1 Round 2 Round 3 Round 4 Round 5 Round 6 Total

Tanzi 5 4 1 5 MP NP 15
Umeza 2 5 5 1 2 NP 15
Wangdu 4 4 4 MNP MP NP 12
¥yla 5 5 5 1 5 4 25
Yonita 2 5 3 5 MP NP 15
Zeneca 5 5 4 5 5 NP 24

Tanzi scored 1 in round 3.

Instructions

The following table represents addition of two six-digit numbers given in‘the first and the second rows, while the sum is given in the third
row. In the representation, each of the digits 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 has been coded-with’one letter among A, B, C, D, E, F, G, H, J, K, with

distinct letters representing distinct digits.

B H A A G F
+ A H I F K F
A A F G C A F
Question 43
Which digit does the letter A represent?
Answer:1
Explanation:
B H A A G F
+ A H I F K F
A A F G C A F

The value of F can only be 0 as F+F=F can'only hold if £=0.

Also, A can only be 1(in the second column) because to get a carry of more than 1, B has to be a double-digit number which is not
possible. (A carry is a digit that is transferred from one column of digits to another column of more significant digits .)

So the data can be tabulated ag follows:

B H 1 1 G 0
+ 1 H J 0 K 0
1 1 0 G C 1 0
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Since the last row in the third column is 0, the carry to the second column must have been 1, Hence B+1+1=11 =>B=9
In the 4th column, H+H = 10'since.a carry 1 has gone to the 3rd column. Hence H=5.
G+K must be 14 and the carry 1 goes to the next column, so C=1+1=2.

Now, G,K can take values (3,8), (4,7) and (5,6) in any order.

From 5th column G=J+1 =% J=G-1

Case: G=3 and K=8, here'J =2 which is not possible as C =2

Case: G=8 and K=3, J=7, a possible case.

Case: G=4 and K=7, J=3 possible

Case: G=7 and K=4, J=6 possible

Case: G=5 and K=6, J=4 not possible as H =5.

Case: G=6 and K=5, J=5 both J and K are same, not possible.

Hence the cases can be tabulated as follows:

9 5 1 1 8 0
+ 1 5 7 0 3 0
1 1 0 8 2 1 0
9 5 1 1 7 0
+ 1 5 6 0 a4 0
1 1 0 7 2 1 0
9 5 1 1 4 0
+ 1 5 3 0 7 0
1 1 0 4 2 1 0
The letter A represents 1.
Question 44
Which digit does the letter B represent?
Answer:9
Explanation:
B H A A G F
+ A H I F K F
A A F G C A F

The value of F can only be 0 as F+E=F can only hold if F=0.

Also, A can only be 1(in the second column)because to get a carry of more than 1, B has to be a double-digit number which is not
possible. (A carry is a digit that is transferred from one column of digits to another column of more significant digits .)

So the data can be tabulated as follows:

B H 1 1 G 0
- 1 H J 0 K 0
1 1 0 G C 1 0

Since the last row in the third column is 0, the carry to the second column must have been 1, Hence B+1+1=11 =>B=9
In the 4th column, H+H = 10 since a carry 1 has gone to the 3rd column. Hence H=5.

G+K must be 11 and the carry 1 goes to the next column, so C=1+1=2.

Now, G,K can take.values (3,8), (4,7) and (5,6) in any order.

From 5th column G=J+1 => J=G-1

Case: G=3 and K=8, here J =2 which is not possible as C =2

Case: G=8 and K=3, J=7, a possible case.

Case: G=4 and K=7, J=3 possible
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Case: G=7 and K=4, J=6 possible
Case: G=5 and K=6, J=4 not possible as H =5.
Case: G=6 and K=5, J=5 both J and K are same, not possible.

Hence the cases can be tabulated as follows:

9 5 1 1 8 0
+ 1 5 7 0 3 0
1 1 0 8 2 1 0
9 5 1 1 7 0
+ 1 5 6 0 4 0
1 1 0 7 2 1 0
9 5 1 1 4 0
+ 1 5 3 0 7 0
1 1 0 4 2 1 0
The letter B represents 9.
About CAT exam
Question 45
Which among the digits 3, 4, 6 and 7 cannot be represented by the letter D?
Answer:7
Explanation:
B H A A G F
+ A H i) F K F
A A F G C A F

The value of F can only'be 0 as F+F=F can only hold if F=0.

Also, A can only be 1{in‘the second column) because to get a carry of more than 1, B has to be a double-digit number which is not
possible. (A carry is a digitthat is transferred from one column of digits to another column of more significant digits .)

So the data can be tabulated as follows:

B H 1 1 G 0
+ 1 H J 0 K 0
1 1 0 G C 1 0

Since the last row in the third column is 0, the carry to the second column must have been 1, Hence B+1+1=11 => B=9
In the 4th column, H+H = 10 since a carry 1 has gone to the 3rd column. Hence H=5.
G+K must be 11 and the carry 1 goes to the next column, so C=1+1=2.

Now, G,K can take values (3,8), (4,7) and (5,6) in any order.

From 5th column G=J+1 => J=G-1

Case: G=3 and K=8, here J =2 which is not possible as C =2

Case: G=8 and K=3, J=7, a possible case.

Case: G=4 and K=7, J=3 possible

Case: G=7 and K=4, J=6 possible

Case: G=5 and K=6, J=4 not possible as H =5.

Case: G=6 and K=5, J=5 both J and K are same, not possible.

Hence the cases can be tabulated as follows:
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9 5 1 1 8 0

-+ 1 5 7 0 3 0
1 1 0 8 2 1 0

9 5 1 1 7 0

+ 1 5 6 0 4 0
1 1 0 7 2 1 0

9 5 1 1 4 0

- 1 5 3 0 7 0
1 1 0 4 2 1 0

In all possible cases 7 is already represented by aletter other than D. Hence 7 is the answer.
Question 46

Which among the digits 4, 6, 7 and 8, cannot-be represented by the letter G?

Answer:6
Explanation:
B H A A G F
+ A H I F K F
A A F G C A F

The value of F,can only be 0 as F+F=F can only hold if F=0.

Also, A can only be 1(in the second column) because to get a carry of more than 1, B has to be a double-digit number which is not
possible. (A carry is a digit'that is transferred from one column of digits to another column of more significant digits .)

So the data can betabulated as follows:

B H 1 1 G 0
- 1 H J 0 K 0
1 1 0 G C 1 0

Since the last row in the third column is 0, the carry to the second column musthavebeen 1, Hence B+1+1=11 => B=9
In the 4th column, H+H = 10 since a carry 1 has gone to the 3rd column. Hehce H=5!
G+K must be 11 and the carry 1 goes to the next column, so C=1+1=2.

Now, G,K can take values (3,8), (4,7) and (5,6) in any order.

From 5th column G=J+1 => J=G-1

Case: G=3 and K=8, here J =2 which is not possible as C =2

Case: G=8 and K=3, J=7, a possible case.

Case: G=4 and K=7, J=3 possible

Case: G=7 and K=4, J=6 possible

Case: G=5 and K=6, J=4 not possible as H =5.

Case: G=6 and K=5, J=5 both J and K are same, not possible.

Hence the cases can be tabulated as follows:
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From the table it is clear that 6,cannot be represented by G.
Instructions

Five vendors are being considered far'a.service. The evaluation committee evaluated each vendor on six aspects - Cost, Customer
Service,Features, Quality;;Reach, and Reliability. Each of these evaluations are on a scale of 0 (worst) to 100 (perfect). The evaluation
scores on these aspects are shown in the radar chart. For example, Vendor 1 obtains a score of 52 on Reliability, Vendor 2 obtains a
score of 45 on Features and Vendor 3 obtains a score of 90 on Cost.

—a—\endor 1 —e— Vendor 2 —s— Vendor 3 Vendor 4 —e—\Vendor 5

Reliability
9

Cost Reach
L
Customer Service Quality
Features
Question 47
On which aspect is the median score of the five vendors the least?
A Customer Service
B Cost
C Reliability
D Quality
Answer: A
Explanation:
The data can be tabulated as follows(approximately):
Parameters Vendor 1 Wendor 2 Vendor 3 Vendor 4 Vendor 5
Reliability 52 40 75 26 &0
Reach 20 L8 63 46 70
Quality 72 B0 62 40 48
Features 40 45 56 ao 75
Customer Serivces 55 41 50 70 28
Cost 77 81 a0 71 50

Customer Serviees: 28,41,50,55,70 (The median is 50)
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Cost: 50,71,77,81,90 (The median is 77)

Reliability: 26, 40, 52, 60, 75 (The median is 52)

Quality: 40, 48, 62, 69, 72 (The median is 62)

Features: 40, 45, 56, 75, 90 (The median is 56)

Reach: 46, 58, 63, 70, 80 (The median is 63)

Hence the customer services has the lowest median.

Question 48

A vendor's final score is the average of their scores on all six aspects. Which vendor-has the highest final score?

A Vendor4
B Vendor 2
C Vendor1

D Vendor3

Answer: D

Explanation:

Know the CAT Percentile Required for I1IM Calls

The data can be tabulated as follows(approximately):

Parameters Vendor 1 Vendor 2 Vendor 3 Vendor 4 Vendor 5
Reliability 52 40 75 26 B0
Reach BO 58 63 46 70
Quality 72 ] 62 40 48
Features 40 45 56 a0 75
Custorner Serivces 55 41 50 70 28
Cost 77 21 a0 71 50
Tatal 376 334 396 343 321

The average of the vendor will-be highest which has highest total score. Hence vendor 3 has the highest average.
Question 49

List of all the vendors who are among the top two scorers on the maximum number of aspects is:

A Vendor 2, Vendor 3 andVendor 4

B Vendor 1 and Vendor 5

C Vendor 2 and Vendor 5

D Vendor 1 and Vendor?2

Answer: B

Explanation:

The data can be tabulated as follows(approximately):

Parameters Vendor 1 Vendor 2 Wendor 3 Vendor 4 Vendor5s
Reliability 52 40 75 26 B0
Reach BO 58 B3 45 70
Quality 72 B9 62 40 48
Features 40 45 56 =l 75
Customer Serivces 55 41 50 70 28
Cost 77 Bl oo 71 50

Top 3 on Reliability: Vendor 3, Vendor 5
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Top 3 on Reach: Vendor 1, Vendor 5

Top 3 on Quality: Vendor 1, Vendor 2

Top 3 on Features: Vendor 4, Vendor 5

Top 3 on Customer Services: Vendor 4, Vendor 1

Top 3 on Cost: Vendor 3, Vendor 2

Vendor 1: 3 times Vendor 2: Only once Vendor 3: 2 times Vendor 4: 2 times Vendor 5: 3 times
Here 1 and 5 comes 3 times. Hence B is the‘answer.

Question 50

List of all the vendors who are among the top three vendors-onall six aspects is:

A Vendor 1 and Vendor 3
B None of the Vendors
C Vendor3

D Vendor1

Answer: C

Explanation:
The data can be tabulated as follows(approximately):

Parameters Vendor 1 Vendor 2 Vendor 3 Vendor 4 Vendors
Reliability 52 40 75 26 B0
Reach BO 58 B3 45 70
Quality 72 B9 62 40 48
Features 40 45 56 =l 75
Customer Serivces 55 41 50 70 28
Cost 77 Bl a0 71l 50

Top 3 on Reliability: Vendor 3, Vendor 5, Vendor 1

Top 3 on Reach: Vendor 1, Vendor 5, Vendor 3

Top 3 on Quality: Vendor 1, Vendor 2, Vendor 3

Top 3 on Features: Vendor 4, Vendor 5, Vendor 3

Top 3 on Customer Services: Vendor 4, Vendor 1, Vendor 3
Top 3 on Cost: Vendor 3, Vendor 2, Vendor 1

Only Vendor 3 ranks among top 3 in all the six parameters.

How to prepare for Logical Reasoning for CAT
Instructions

The Ministry of Home Affairs is analysing crimes committed by foreigners in different states and union territories (UT) of India. All cases
refer to the ones registered against foreigners in 2016.

The number of cases - classified into three categories: IPC crimes, SLL crimes and other crimes - for nine states/UTs are shown in the
figure below. These nine belong to the top ten states/UTs in terms of the totalnimber of cases registered. The remaining state (among
top ten) is West Bengal, where all the 520 cases registered wereSLL crimes.
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Telangzana _
Puducherry _
Heryen |
veherzshir: |
Tamiinacy.
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a 10 20 30 40 50 &0 70 80 90 100 110 120 130 140 15D
W |IPC crimes B SLLcrimes B Other Crimes
The table below shows the ranks of the ten states/UTs mentioned above among ALL states/UTs of India in terms of the number of cases
registered in each.of the‘three category of crimes. A state/UT is given rank r for a category of crimes if there are (r-1) states/UTs having
a larger number of cases registered in that category of crimes. For example, if two states have the same number of cases in a category,
and exactly three other states/UTs have larger numbers of cases registered in the same category, then both the states are given rank 4 in
that category. Missing ranks in the table are denoted by *.

IPC crimes |5LL crimes | OtherCrimes
Delhi * * *
Goa = 4 =
Haryana 3 6 =
Karnataka 3 2 =
Kerala * 9 *
Maharashtra 3 4 3
Puducherry 13 29 =
Tamil Nadu 11 7 =
Telangana 6 9 )
WestBengal 17 * 16

Question 51

What is the rank of Kerala in the ‘IPC crimes’ category?

Answer:5

Explanation:

The data can be tabulated as follows(approximately):

States IPC Crimes SLL Crimes Other Crimes Total Crimes
Telangana 3-4 14-15 6-7 24-25
Puducherry 1 0 30 31

Kerala 7-8 15-16 10-11 33-34

Haryana 3-4 25-26 9-10 37-38
Maharashtra 15-16 35-36 5-6 55-56
Tamilnadu 2-3 25-26 35-36 62-64
Goa 25-26 35-36 18-1% 20
Karnataka 15-16 48-49 25-26 a1
Delhi 63-64 35-36 42-43 142-143
West Bengal 0 520 0 520
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IPC crimes |SLL crimes | OtherCrimes
Delhi * * =
Goa * 4 *
Haryana 8 6 =
Karnataka 3 2 =
Kerala = 9 =
Maharashtra 3 4 8
Puducherry 13 29 =
Tamil Nadu 11 7 *
Telangana 6 9 8
WestBengal 17 = 16

Rank of Delhi in IPC crimes category = 1, The rank of Karnataka and Maharashtra is 3(from table), then the rank of Goa can only be 2.
The rank of Telangana is 6 which has less |IPC crimes than Kerala, which means the rank.ef-Kérala can be less than or equal to 5.
Now, there are two states with 3 ranks, so there will be no rank 4, there ¢an/only be rank 5 whichlis Kerala.

Question 52

In the two states where the highest total number of cases are registered, the ratio of the.total number of cases in IPC crimes to the total
number in SLL crimes is closest to

B 19:20
C 11:10

D 1:9

Answer: D

Explanation:
The data can be tabulated as follows(approximately):

States IPC Crimes SLL Crimes Other Crimes Total Crimes
Telangana 3-4 14-15 6-7 24-25
Puducherry 1 0 30 31

Kerala 7-B 15-16 10-11 33-34

Haryana 3-4 25-26 9-10 37-38
Maharashtra 15-16 35-36 5-6 55-56
Tamilnadu 2-3 25-26 35-36 62-64

Goa 25-26 35-36 18-19 B0
Karnataka 15-16 4B-49 25-26 o1

Delhi 63-64 35-36 42-43 142-143

West Bengal 0 520 0 520
IPC crimes |SLL crimes | OtherCrimes
Delhi = = =

Goa = 4 =

Haryana 8 6 =

Karnataka 3 2 =
Kerala * 9 *
Maharashtra 3 4 g8
Puducherry 13 29 =
Tamil Nadu 11 7 =
Telangana 6 9 8
WestBengal 17 * 16

The highest cases.areregistered in West Bengal and Delhi.

The total number of IPC crimes = 63-64

The total number of SLL crimes = 520+35-36 = 555-556

Hence the ratio = (63-64)/(555-556) =0.11 (Approximately) =1:9

Downloaded from cracku.in


https://cracku.in

Question 53

Which of the following is DEFINITELY true about the ranks of states/UT in the other crimes" category?

i) Tamil Nadu: 2
ii) Puducherry: 3

A bothi) and ii)
B onlyii)
C neitheri), norii)

D onlyi)

Answer: A

Explanation:

The data can be tabulated as follows(approximately):

From the table, the.rank‘of Tamilnadu in other crimes is 2. The states which are not in the table will have crimes less than Telangana(i.e

24-25)

From the table the rank of Pudducherry in other crimes is 3.

Question 54

What is the sum of the ranks of Delhi in the three categories of crimes?

Answer:5

Explanation:

Data Interpretation for CAT Questions (download pdf)

The data can be tabulated as follows(approximately):

The data can be tabulated as follows(approximately):

States IPC Crimes SLL Crimes Other Crimes Total Crimes
Telangana 3-4 14-15 6-7 24-25
Puducherry 1 0 30 31

Kerala 7-B 15-16 10-11 33-34

Haryana 3-4 25-26 5-10 37-38
Maharashtra 15-16 35-36 5-6 55-56
Tamilnadu 2-3 25-26 35-36 62-64
Goa 25-26 35-36 18-19 BO
Karnataka 15-16 48-49 25-26 o1
Delhi 63-64 35-36 42-43 142-143
West Bengal 0 520 0 520
IPC crimes |SLL crimes | OtherCrimes
Delhi * * =
Goa * 4 *
Haryana 8 6 =
Karnataka 3 2 =
Kerala * 9 =
Maharashtra 3 4 8
Puducherry 13 29 *
Tamil Nadu 11 7 =
Telangana b 9 8
WestBengal 17 = 16
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States IPC Crimes SLL Crimes Other Crimes Total Crimes
Telangana 3-4 14-15 6-7 24-25
Puducherry 1 0 30 31

Kerala 7-B 15-16 10-11 33-34

Haryana 3-4 25-26 5-10 37-38
Maharashtra 15-16 35-36 5-6 55-56
Tamilnadu 2-3 25-26 35-36 62-b4
Goa 25-26 35-36 18-19 BO
Karnataka 15-16 48-49 25-26 o1
Delhi 63-64 35-36 42-43 142-143
West Bengal 0 520 0 520
IPC crimes |SLL crimes | OtherCrimes
Delhi * * =
Goa * 4 *
Haryana 8 6 =
Karnataka 3 2 =
Kerala = 9 =
Maharashtra 3 4 8
Puducherry 13 29 *
Tamil Nadu 11 7 =
Telangana 6 9 8
WestBengal 17 = 16

The rank of Delhiiin IPC crimes should be 1 because the states which are not in table cannot crime more than that of Telangana which is
24-25.

Similarly Delhi Rank in Other'crimes will be 1.

Now in SLL crimes.clearly'West Bengal has rank 1. It is given that Karnataka has rank 2. The rank 3 can go to either Goa, Delhi and
Maharashtra but Goa and Maharashtra already have rank 4. So Delhi will have rank 3. Also no state outside of the table can be ranked 3 in
SLL crimes as maximum number of crime should be less than that of Telangana(24-25). Here the number of SLL crimes is 35-36.

Hence the sum of the ranks = 1+3+1=5
Instructions

The figure below shows the street map for a certain region with the street intersections marked from a through I. A person standing at an
intersection can see along straight lines to other intersections that are in herline of sight and all other people standing at these
intersections. For example, a person standing at intersection g can see all people standihg at intersections b, ¢, e, f, h, and k. In particular,
the person standing at intersection g can see the person standing at intersection € irrespective of whether there is a person standing at
intersection f.

p_—ﬁ —O“—m—
o — i — — ) —

I
i
|
j
I
k
I
1

Six people U, V, W, X, Y, and Z, are standing at different intersections. No two people are standing at the same intersection.
The following additional facts are known.

1. X, U, and Z are standing at the three corners of a.triangle formed by three street segments.

2. X can see only U and Z.

3.Ycanseeonly Uand W.

4. U sees V standing in the next intersection behind Z.

5. W cannot see V or Z.

6. No one among the six is standing at intersection d.

Question 55

Who is standing at intersection a?
A w
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B Y
C Noone

D V

Answer: C

Explanation:

p__n—o-‘—m—
o — g m— e m— ) —
P — s — i —

From 1, X, U, and Z are standing at the three corners of a triangle formed/by three street’segments.

From 2, X can see only U and Z.

From 4, U sees V standing in the next intersection behind Z. Also, no one among the-sixis standing at intersection d.
Only cases possible are:

1.

—

W cannot see V or Z. So W can only be at the intersection a:Since Y-can see only U and W, Y can only be at ¢ where X can see him. Hence
this case is rejected.

—_—— ] —
-_— e -

2.

|
v
|
Z
|
u
I

Y can only see U and W. Y cannot be placed anywhere. Hence this case is also rejected.

3.

— T — N —
I —
—<—

Y can only see U and W. Y cannot be placed anywhere. Hence this case is also rejected.
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— D —

W cannot see V or Z. W can only be placed ati. Y can see only U and W. Y canenly:be placed at j or e, where he can see more people than
U and W. Hence this case is also rejected.

5.

—
—_ = N——

W cannot see V or Z. Y can only see U and W._.Hence W and Y can only be placed as shown:

>
—C —N—<—

= —<—

No one is standing at the intersection.A:Hence C is the answer.
Question 56

Who can V see?

A Zonly
B U,WandZonly
C UandZonly

D Uonly

Answer: C

Explanation:

o — ] m— ) — ) —
Pt —r — e — e S—

From 1, X, U, and Z are standing at the three corners of a triangle formed by three street segments.
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From 2, X can see only U and Z.

From 4, U sees V standing in the next intersection behind Z. Also, no one amang the six is standing at intersection d.
Only cases possible are:

1.

I
I
U
I

—_— = —

I \
T

W cannot see V or Z. So W can only be at the intersection a. Since Y can see only U and W, Y can only be at ¢ where X can see him. Hence
this case is rejected.

I
v
I
I

2.

|
Y
|
z
|
u
|

Y can only see U and W. Y cannot be placed anywhere. Hence this case is also rejected.

3.

—C = —
Iy =

Y can only see U and W. Y cannot be placed anywhere. Hence this case is also rejected,

4.

W cannot see V or Z. W can only be placed at i. Y can see only U and W. Y can only be placed at j or e, where he can see more people than
U and W. Hence this case is also rejected.

5.
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—
—C—N—<—

W cannot see V or Z£Y ¢an only see U and W. Hence W and Y can only be placed as shown:

>
—_ —N—<—
= —

—_c—

V can see U and Z only. Hence C is the answer.

Logical Reasoning for CAT Questions (download pdf)

Question 57

What is the minimum number of street segments that X must cross to/reach Y?

Answer: C

Explanation:

o — (] m— ) — ) —
Pt —r — e — e —

From 1, X, U, and Z are standing at the three corners of a triangle formed by three street segments.

From 2, X can see only U and Z.

From 4, U sees V standing in the next'intersection behind Z. Also, no one among the six is standing at intersection d.
Only cases possible are:

1.
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— — —

\
| | |

W cannot see V or Z. So W can only be at the intersection a. Since Y can see-only U and W, Y can only be at ¢ where X can see him. Hence
this case is rejected.

2.

—_— — ] —

I
v
I
I

|
Vv
|
4
|
u
I

Y can only see U and W. Y cannot be placed anywhere. Hence this.case is also rejected.

3.

—C — ¢ —
~—

—_———

Y can only see U and W. Y cannot be placed anywhere: Hence this case is also rejected.

4.

W cannot seg€ V or Z. W can only be placed at i. Y can see only U and W. Y can only be placed at j or e, where he can see more people than
U and W. Hence this case is.also rejected.

5.

— 0
—_ = N——

W cannot see V or Z. Y can only see U and W. Hence W and Y can only be placed as shown:
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>
—_—N—<—

ToreachY, X hasto gofrombtogandgtok,i.e. 2 streets.

Question 58

Should a new person stand at intersection d;;-whe.among the six would she see?

A Wand X only
B UandW only
C UandZonly

D VandXonly

Answer: A

Explanation:

o — ] m— ) — ) —
P —r — e — e —

From 1, X, U,"and Z are standing at the three corners of a triangle formed by three street segments.

From 2, X can see only U and Z.

From 4, U sees V standing in the next intersection behind Z. Also, no one among the six is standing at intersection d.
Only cases possible are:

1.

I
I
U
I

—_— — —

I \
T

W cannot see V or Z. So W can only be at the intersection a. Since Y.can see only"U and W, Y can only be at ¢ where X can see him. Hence
this case is rejected.

I
v
I
I

2.
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|
Vv
|
z
|
u
I

Y can only see U and W. Y cannotbeplaced anywhere. Hence this case is also rejected.

3.

—C = —
=

Y can only see d and W. ¥ cannot be placed anywhere. Hence this case is also rejected.

4.

— 0 —

W cannot see V or Z. W can only be placed at i. Y can see only U and W. Y/can only’be placed at j or e, where he can see more people than
U and W. Hence this case is also rejected.

5.

—
—C—N—<—

W cannot see V or Z. Y can only see U and W. Hence*W and Y can-enly be placed as shown:

I
v
I I I
X z
U Y
I I I
W

If a new person stands at d(left/down/corner);they can see W and X only. Hence A is the answer.

Instructions
Princess, Queen, Rani and Samragni were the four finalists in a dance competition. Ashman, Badal, Gagan and Dyu were the four music
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composers who individually assigned items to the dancers. Each dancer had to individually perform in two dance items assigned by the
different composers/The first items performed by the four dancers were all assigned by different music composers. No dancer
performed her second item before the performance of the first item by any other dancers. The dancers performed their second items in
the same sequence of their performance of their first items.

The following,additional facts are known.

i) No composer who assigned item to Princess, assigned any item to Queen.

ii) No composer who assighéd item to Rani, assigned any item to Samragni.

iii) The first performance was by Princess; this item was assigned by Badal.

iv) The last performance was by Rani; this item was assigned by Gagan.

v) The items assigned by Ashman were performed consecutively. The number of performances between items assigned by each of the
remaining composers was the same.

Question 59

Which of the following is true?

A The second performance was composed by Dyu.
B The third performance was composed by Dyu.
C The third performance was composed by Ashman.

D The second performance was composed by Gagan.

Answer: A
Explanation:
1zt Performance 2nd Performance
Finalists Princess Rani
Composers | Badal Gagan

Since the dancers performed their second items in the same sequence-oef-their performance of their first items. The table will be as
follows:

1st Performance 2nd Performance

Finalists Princess Rani Princess Rani
Composers | Badal Gagan

The items assigned by Ashman were performed consecutively.“The number of performances between items assigned by each of the
remaining composers was the same.

Also, the first items performed by the four,dancers were all assigned by different music composers. Badal can come only at the place as
shown in the table.

1st Performance 2nd Performance

Finalists Princess Rani Princess Rani
Compozers | Badal Gagan Badal Gagan

Then Ashman can only compose for the.following performances.

1zt Performance 2Znd Performance
Finalists Princess Rani Princess Rani
Composers | Badal Gagan Azhman | Ashman | Badal Gagan

Hence Dyu will composé;for the following performances:

1zt Performance 2nd Performance

Finalists Princess Rani Princess Rani
Composers | Badal Dyu Gagan Azhman | Ashman Badal Dyu Gagan
From (i) No composer who assigned item to Princess, assigned any item to Queen.

From (ii) No ¢omposer who assigned item to Rani, assigned any item to Samragni.

Hence Dyu will compose for/Samragni 1st Performance and Gagan will compose for Queen 1st Performance. Also, Badal will compose
for Samragni.2nd Performance and Dyu will compose for Queens 2nd Performance.

Hence, the completetable is as follows:

1st Performance 2nd Performance
Finalists Princess | Samragni | Queen Rani Princess | Samragni | Queen Rani
Composers | Badal Dyl Gagan Azhman | Ashman | Badal Dyl Gagan
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The second performance was composed by Dyu. Hence A is the answer.

Quantitative Aptitude for CAT Questions (download pdf)

Question 60

Which of the following is FALSE?

A Samragni did not perform in any item composed by Ashman.
B Princess did not perform in any item composed by Dyu.
C Ranidid not perform in any item composed by Badal.

D Queen did not perform in any item composed by Gagan.

Answer: D
Explanation:
1zt Performance 2nd Performance
Finalists Princess Rani
Composers | Badal Gagan

Since the dancers performed their second items in the same sequence of their performance of their first items. The table will be as
follows:

1st Performance 2nd Performance
Finalists Princess Rani Princess Rani
Compasers | Badal Gagan

The items assigned by Ashman were performed consecutively. The number of performances between items assigned by each of the
remaining composers was the same:

Also, the first items performed by the four'dancers were all assigned by different music composers. Badal can come only at the place as
shown in the table.

1st Performance 2nd Performance
Finalists Princess Rani Princess Rani
Composers | Badal Gagan Badal Gagan

Then Ashman can only-ecompose for the following performances.

1zt Performance 2nd Performance
Finalists Princess Rani Princess Rani
Composers | Badal Gagan Ashman | Ashman | Badal Gagan

Hence Dyu will compose fafjthe following performances:

1st Performance 2nd Performance

Finalists Princess Rani Princess Rani
Composers | Badal Dhyu Gagan Ashman | Ashman | Badal Dhyu Gagan
From (i) No composer who assigned item to Princess, assigned any item to Queen.

From (ii) No composer who assigned item to Rani, assigned any item to Samragni.

Hence Dyu will compose for Samragni 1st Performance and Gagan will compose fof Queen 1st Performance. Also, Badal will compose
for Samragni 2nd Performance and Dyu will compose for Queens 2nd Performance.

Hence, the complete table is as follows:

1zt Performance 2Znd Performance
Finalists Princess | Samragni | Queen Rani Princess | Samragni | Queen Rani
Composzers | Badal Dyu Gagan Azhman | Ashman | Badal Dyu Gagan

Option A: Samragni did not perform in any item composed by Ashman. This statementisitrue.
Option B: Princess did not perform in any item composed by Dyu. This’is alsoitrue.

Option C: Rani did not perform in any item composed by Badal. This statement'is true.

Option D: Queen did not perform in any item composed by Gagan. This statement is false.

Hence D is the answer.
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Question 61

The sixth performance was composed by:

A Badal

B Dyu

C Ashman

D Gagan

Answer: A

Explanation:

1zt Performance 2nd Performance

Finalists Princess Rani
Composers | Badal Gagan

Since the dancers performed their second items in the same sequence of their performance of their first items. The table will be as
follows:

1zt Performance 2nd Performance

Finalists Princess Rani Princess Rani
Composers | Badal Gagan

The items assigned by Ashman were performed consecutively. The number of performances between items assigned by each of the
remaining composers was the same.

Also, the firgt/items performed by the four dancers were all assigned by different music composers. Badal can come only at the place as
shown in the table.

1st Performance 2nd Performance

Finalists Princess Rani Princess Rani
Compozers | Badal Gagan Badal Gagan

Then Ashman can only compose for the following performances.

1st Performance 2nd Performance

Finalists Princess Rani Princess Rani
Composers | Badal Gagan Azhman | Ashman | Badal Gagan

Hence Dyu will compose for the following performances:

1zt Performance 2nd Performance

Finalists Princess Rani Princess Rani
Composers | Badal Dyu Gagan Aszhman | Ashman Badal Dyu Gagan

From (i) No composer who assigned item to Princess, assigned any item to Queén.
From (ii) No composer who assigned item to Rani, assigned any item to Samragni.

Hence Dyu will compose for Samragni 1st Performance and Gagan will compose for-Queen 1st Performance. Also, Badal will compose
for Samragni 2nd Performance and Dyu will compose for Queens 2nd Performance.

Hence, the complete table is as follows:

1st Performance 2nd Performance
Finalists Princess | Samragni | Queen Rani Princess | Samragni | Queen Rani
Composers | Badal Dhyu Gagan Ashman | Ashman | Badal Dhyu Gagan

The sixth performance was composed by Badal. Hence C is the answer.
Question 62

Which pair of performances were composed by the same\composer?

A The first and the seventh
B The third and the seventh

C The second and the sixth
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The first and the sixth

D
Answer: D
Explanation:
1st Performance Znd Performance
Finalists Princess Rani
Composers | Badal Gagan

Since the dancers performed their second items in the same sequence of their performance of their first items. The table will be as
follows:

1zt Performance 2nd Performance
Finalists Princess Rani Princess Rani
Composers | Badal Gagan

The items assighed by.Ashman were performed consecutively. The number of performances between items assigned by each of the
remaining composers was the same.

Also, the first items performed by the four dancers were all assigned by different music composers. Badal can come only at the place as
shown in the table.

1zt Performance 2nd Performance
Finalists Princess Rani Princess Rani
Composers | Badal Gagan Badal Gagan

Then Ashman can only compose for the following performances.

1st Performance 2nd Performance
Finalists Princess Rani Princess Rani
Composers | Badal Gagan Aszhman | Ashman | Badal Gagan

Hence Dyu will compose for the following performances:

1st Performance Znd Performance
Finalists Princess Rani Princess Rani
Composers | Badal Dyu Gagan Aszhman | Ashman Badal Dyu Gagan

From (i) No composer who assigned item to Princess, assigned any-itém.to Queen.
From (ii) No composer who assigned item to Rani, assigned any item to Samragni.

Hence Dyu will compose for Samragni 1st Performance and Gagan will compase for Queen 1st Performance. Also, Badal will compose
for Samragni 2nd Performance and Dyu will compose for Queens-2nd.Performance.

Hence, the complete table is as follows:

1st Performance 2nd Performance
Finalists Princess | Samragni | Queen Rani Princess | Samragni | Queen Rani
Composers | Badal Dy Gagan Ashman | Ashman | Badal Dhyu Gagan

The first and the sixth items were composed by Badal. Hence D is the answer.

Top MBA Colleges

Instructions

A new game show on TV has 100 boxes numbered-1;2, . ., 100 in a row, each containing a mystery prize. The prizes are items of
different types, a, b, ¢, . . ., in decreasing order of value. The most expensive item is of type a, a diamond ring, and there is exactly one of
these. You are told that the number of items at least doubles as you move to the next type. For example, there would be at least twice as
many items of type b as of typesa, atleast.twice as many items of type c as of type b and so on. There is no particular order in which the
prizes are placed in the boxes!

Question 63

What is the minimum possible number-of-different types of prizes?
Answer:2

Explanation:
It is given that.the most expensive item is a diamond ring of type a and there is exactly one of these. Since the item b should be at least
twice. The minimum number of items will be obtained when a=1 and b=99, which means there are only two different types of items.
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Question 64 M

What is the maximum possible number of different types of prizes?

Answer:6

Explanation:
It is given that the most expensive item is a diamond ring of type a and there.i
should be at least twice of that of a and the number of items of type c sh
number of different types of items of a, b and ¢ will be obtained when az1,
different types of items will be 6.

exactly one of these. Since the number of items of type b
that of b and so on. So the maximum
9. Hence the maximum number of

If the number of items is 7, then the minimum number of prizes should be/1 32+64=127 which is more than 100.

Hence 6 is the answer.
Question 65

Which of the following is not possible?
A There are exactly 75 items of type e. \

B There are exactly 30 items of type b.

C There are exactly 45 items of type c.

D There are exactly 60 items of type d. \\

Answer: C

Explanation:
Option A: There are exactly 75 items of typ

a=1,b=2,c=4,d=8, e=85. Here the maximu 85:Hence it can take the value 75.
An example of such case is a=1,b=2,c=4,d=1
Option B: There are exactly 30 items of type b.
a=1b=30 and ¢=69. Hence this is also possible.

Option C: There are exactly 45/items 6f type ¢

Since the value of d should be at least 90, it
items). Only a,b and c are present.

eans that d is not present because 45+90 will be more than 100(maximum number of

The maximum value of(l?= 22 and a =1, but 45+22+1=68, which is less than 100. So this case is not possible.
Ll
Option D: There are ct‘ly\60 items of type d.
d=60, c=30, b=9 and a=1. a+\c;F\/¢=100. Hence this case is possible.
is th
Cis the answ/gr?

]

/

U
Question 66

You ask for the type of item in box 45. Instead of being given a direct answer, you are told that there are 31 items of the same type as
box 45 in boxes 1 to 44 and 43 items of the same type as box 45 in boxes 46 to 100.
What is the maximum possible number of different types of items?

Join MBA Telegram Group

y
A 5
3 O
C 4 /
D 3

_/

de
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Answer: A NN

\\/3
Explanation: >
The total number of items from 1 to 100, which are of same type as iﬁ'b@e45 =31+1+43=75

Now to maximize the number of items, a=1, b=2, c=4, d=18 and e=75(given) i~
There can be maximum 5 types of items. “\\ .

If we consider number of items to be 6, then minimum number of iterﬁ?s' of 5th type will be 16, 1+2+4+8+16+75=106 which is more than
100. (

===
Enroll ent CAT/MBA courses
Quan}fative Aptitude

Instructions
For the following questions answer them individually

Question 67

Two cars travel the same distance starting at 10:00 am and 11:00 am, respectively, on the same day. They reach their common
destination at the same point of time. If the first car travelled for at least 6 hours, then the highest possible value of the percentage by
which the speed of the secon ceed that of the first car is

A 20

B 30 @
25 B

(¢}

10
PN
Vi
Answer: A( 4

il
Explanation: E@_{/ /
Let the speed of ¢ and b and the distance =d

Minimum time taken by 1st car = 6 hours,
For maximum difference in time taken by both of them, car 1 has to start at 10:00 AM and car 2 has to start at 11:00 AM.

Hence, car 2 will take 5 hours.
d
5

d
Hencea= 6 andb=

d d
5 — 6
d
Hence the speed of car 2 will exceed the speed of car 1 by 6
Cracku CAT S
Question 68
1 1
If a1, a2, ...... arein AP, then, V@+v@ | Vorvas + Vfm

n
A A /a1+4 /an+1
n—1
B A /ll1+, /an—1

n—1 \
C Vai4y/an
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mn

J/ail_—./an+l

D
Answer: A
Explanation:
1 1 1
We have, VALV | VELVE | | @
1 Vaz—/aj
Now, Va1+va2 = (Var+v/an(v@=vans {(multiplying numerator and denominator by v/ 42 — 1/@1)
Vaz—y/ar
= (a2—a1
Vaz—y/ar
= d (where d is.the common difference)
1 VAT Ja
Similarly, V&+v@ = = 5 ““ghd.so on.

1 1 1
Then the expression V&+va | Var+yas | 4 Vanp/art

1
can be writtenas d (V32/+ VA1 /A3 — /A3 + vantl _ /an

= J& 8% an+1'S A1y (Multiplying both numerator and denominator by n)

(V@ _/ai)
= ai-a (an+1 — a1 = nd)

n
- /(l1+ /an+1

Question 69

AB is a diameter of a circle of radius 5 cm. Let P and Q be two points on the circle so that the.length of PB is 6 cm, and the length of AP
is twice that of AQ. Then the length, in cm, of QB is nearest to

A 93
B 7.8
C 9.1

D g5
Answer: C

Explanation:

2 9%

Since AB is a diameter, AQB and’APB will right angles.

In right triangle APB, AP = V102 — 6% =8

Now, 2AQ=AP => AQ= 8/2=4

In right triangle AQB, AP = V102 — 42 ='9.165 =9.1 (Approx)

Downloaded from cracku.in


https://cracku.in

Question 70 \\
& 1
If (5.55)" = 6}555)11 = 1000, then the value of o — yis

Answer: A

Explanation:
We have, (5.55)* = (0.555) = 1000

Taking log in base 10 on both sides,
x(log10 555-2) = y(log10 555-3) = 3
Then, x(log10 555-2) = 3.....(1)
y(log10 555-3) =3 .....(2)

From (1) and (2)

3 3
=>1og10555= z+2=y + 3

1 1 1
=z —Yy=3

(
Subscﬁl;et\okBlBA_gxgms Youtube Channel

Question 71

=

y
The income of Amala is 20% more than that of Bimala and 20% less than that of Kamala. If Kamala's income goes down by 4% and
Bimala's goes up by 10%, then the percentagé by which Kamala's income would exceed Bimala's is nearest to

7
A 31 \ /[7
29 N\
C 28
D 32 // " R
N
Answer: A 'I‘J[ l/ l/ ))\j
A \\-.,-’/
Explanation: —

Assuming the income gf' Bimla = 1004, then the income of Amala will be 120a.

And the income of Ka%alQull be 120a*100/80=150a

If Kamala's income goes dowFibgCA%, then new income of Kamala = 150a-150a(4/100) = 150a-6a=144a
If Bimla's incaﬁ% goes up by 10 percent, her new income will be 100a+100a(10/100)=110a

=>Hence th (Kamala |nc071p will exceed Bimla income by (144a-110a)*100/110a=31

Question 72V
The wheels of bicycles A and B have radii 30 cm and 40 cm, respectively. While traveling a certain distance, each wheel of A required

5000 more revolutions than each wheel of B. If bicycle B traveled this distance in 45 minutes, then its speed, in km per hour, was

A 187w -

B 14w
—_ )
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c 167

D 127«

Answer: C O

Explanation:
Distance covered by A in 1 revolution = 27 *30 = 607

Distance covered by B in 1 revolution = 27 *40 = 807
Now, (5000+n)607 =807 n
=>15000= 4n-3n =>n=15000

Then distance travelled by B = 15000*807 cm =127 km

127x 60
Hence, the speed = 45 =16m

Question 73

The product of the distinct roots of | 2 — = — 6 |= z

A -16

B -4

CcC -24

D -8 /\\
Answer: A {

Explanation:

We have, | 22 — x — x+2

=> |(x-3)(x+2)|=x+2
For x<-2, (3-X)(-x-2)=x+2

=>x-3=1 =>x=4(Rejected as x<-2)

For-2< x<3/(8-X)(x+2)=x+2 =>x=2,-2
For x> 3, (x X+2 /=5x=4
Hence the pro 16

Join CAT 2022 Online Coaching

Question 74

In a race of three horses, the first beat the second by 11 metres and the third by 90 metres. If the second beat the third by 80 metres,
what was the length, in metres, of the racecourse?

Answer:880
Explanation:
Assuming the length of race course = x and the speed of three horses be a,b and ¢ respectively.
T z—11 /e\v

Hence, « = b ... (1)

T z—90
and a = ¢ ... 2)

T z—80 K
Also, b = ¢ ... 3)

z—11 z—90

From1and2,weget, » = ¢ ... (4)
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z—11 z—90

Dividing (3) by (4), weget, z = z-80 \’
=> (x-11)(x-80)=x(x-90) {:\\i \ P
2 ==
=>91x-90x=880 =>x=880 "\\} |
. O
Question 75 ~2

If the population of a town is p in the beginn’@g of any year then it becomes 3 + 2p in the beginning of the next year. If the population in
the beginning of 2019 is 1000, then the p pulatlon in the beginning of 2034 will be

/]
Nt

A (1003)'5 + 6

B (997)15 -3
IR
14 fif !
(997)21% + 3 Uf /f \)T/
I|
D (1003)2'% —3 t\fij’/
Answer: D p.
al\
Explanation: 5

The population of town at th%ning of 1styear=p

The populatiq,riﬁ town at the beginning of 2nd year = 3+2p

The populat/c{a of town at tP,-e beginning of 3rd year = 2(3+2p)+3 = 2*2p+2*3+3 =4p+3(1+2)
The populatWe beginning of 4th year = 2(2*2p+2*3+3)+3 = 8p+3(1+2+4)
Similarly population at the beginning of the nth year = 2"~ 1p+3(2"~1 — 1) = 2"~ (p + 3)-3

The population in the beginning of 2019 is 1000, then the population in the beginning of 2034 will be (22034-2019) (1000 + 3)-3 =
215 (1003)-3

Question 76

Consider a function f satisfying f (x +y) = f (x) f (y) where x,y are positive integers, nd f(1) 2. 1ffa+1)+Hf (a+2)+..+fla+n)=16 (2
" - 1) then a is equal to

Answer:3 /
Explanation:

fix+y)=f(x) )
Hence, f(2)=f(1+1)=f(1)*f(1)=2*2=4
f(3)=f(2+1)=f(2)*f(1)=4*2=8
f(4)=f(3+1)=f(3)*f(1)=8*2=16

Now, f(a+1)+f(a+2)+...+f(a+n)=16 (2 "-1)
On putting n=1 in the equation we get, f(a+1)=16 =>f(a)*f(1)=16 (It is gi glven that f(x+y)=f(x)f(y))

=> 20%2=16

s\\\

Take §>Free CAﬁAocks (With Solutions)

Question 77 f

What is their total interest income (in Rs) \er\q year,if’/Bina's interest income exceeds Amala's by Rs 2507

\‘-.\_, —

Amala, Bina, and Gouri invest money in t é\ratio 3:4 jfg fixed deposits having respective annual interest rates in the ratio 6 : 5 : 4.

A 6350
/ =
AN
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C 7000 ,
D 7250 "

Answer: D W

g

Explanation:
Assuming the/investment of Amala, Bina, and Gouri be 300x, 400x and 500x, hence the interest incomes will be 300x*6/100=18x,
400x*5/100=20x and 500x#4/100 = 20x
Given, Bina's stin e exceeds Amala by 20x-18x=2x=250 =>x=125

Now, total interest income = 18x+20x+20x=58x = 58*125 = 7250
Question 78

For any positive integer n, let f(n) = n(n + 1) if n is even, and f(n) = n + 3 if n is odd. If m is a positive integer such that 8f(m + 1) - f(m) =
2, then m equals

Answer:10

Explanation: Q
Assuming m is even, then 8f(m+1)-f(m)=2

m+1 will be odd

So, 8(m+1+3)-m(m+1)=2 O

=> 8m+32-m?2 — m=2

=>m?—Tm —30=0

=>m=10,-3

Rejecting the negative value, we get m=10
Assuming m is odd, m+1 will be even.
then, 8(m+1)(m+2)-m-3=2

=>8(m?2 + 3m + 2)-m-3=2

=>8m? +23m + 11 =0

Solving this, m =-2.26 and -0.60

Hence, the value of m is not integral. Hence case will be rejected.

Question 79

The product of two positive numbers is 6 the difference of their cubes to the cube of their difference is 157:3, then the

sum of the two numbers is

A 58
B 85 {

C 50
D 95 '-
Answer: C
Explanation:
Assume the numbers are a and b, then ab=616
We have, (
= 3 (a® — b%) 7 (a® — b% + 3ab (b — a))
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=>154 (a® — b%) + 3% 157 xab(b—a) =0

=>154 (a® — b%) + 3616 % 157 (b —a)=0  (ab=616)
=>a3 — b3+ (3 x 4 x 157 (b —a)) (154*4=616)
=>(a—b) (a®?+b*+ab) = 3x 4x 157(a —b)

=>a?+b2+ab = 3x 4x 157 Q
Adding ab=616 on both sides, we get

==
a2+ b2+ab +ab= 3 x 4x 157+ 616
= (a +b)> = 3 x 4 x 157 + 616 = 2500 O
=>a+b=50

Question 80

One can use three different transports which move at 10, 20, aRI\QQ\ ; respectively to reach from A to B. Amal took each mode of

Lrd .. . . - lrd .
transport for 3 "“ of his total journey time, while Bimal } ok each mode of transport for 3 "? of the total distance. The percentage by
which Bimal's travel time exceeds Amal’s travel time i\ earest to

A 22 QN(J:::?

-
B 20 9
Cc 19
D 21
-
Answer: A

Assume the total distance be

Explanation: %/—\

1

Since Amal travelled 3Td of his total jo ime in different speeds

t t t
d=3x 10+ 3 x 20+ 3 x 30

. [ . di d2 d3

Total time taken imal = s1 + s2 + s

20t 1 20t 1 1 20¢(6+3+2) 11
= 3 X 10+ 3 X 20+ 30 = 3x30 = 9t

//"“; 11¢

4 9 11
rii) of time taken by Bimal to time telzhen by Amal= ¢t = 9

9 —t
al will exce (j’lAmaI's time by t x 100 = 22.22

Meena scores 40% in an examination and after review, even though her score is increased by 50%, she fails by 35 marks. If her post-
review score is increased by 20%, she will have 7 marks more than the passing score. The percentage score needed for passing the
examination is

Hence, the r

Therefore,

Question 81

A 60
B 80
c 70 Q
D 75
Answer: C O
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Explanation \
Assuming the maximum marks =100a, then Meena got 40a .

After increasing her score by 50%, she will get 40a(1+50/1 00) 60a
Passing score = 60a+35

Post review score after 20% increase = 60a*1.2=72a
=>Hence, 60a+35+7=72a

p
=>12a=42 =>a=3.5 Q\\

=> maximum marks = 350 and passing marks = 210+3 &
=> Passing percentage = 245*100/350 = 70

Question 82

A person invested a total amount of Rs 1 I\akh. A part of it was invested in a fixed deposit earning 6% annual interest, and the
in‘the ratio 2 : 1, earning annual interest at the rates of 4% and 3%, respectively. If
the total annual interest income is Rs 76000 amount (in Rs lakh) invested in the fixed deposit was

Answer:9

//“:\

Explanation:
Assuming the amount invested in t e atlo was 200x and 100x, then the fixed deposit investment = 1500000-300x

Hence, the interest = 2?6;(*4/1 00 = 8x and 100x*3/100=3x
Interest from the fix ersn = (1500000-300x)*6/100 = 90000-18x

Hence the total interest = T)QO\BX+8X+3X =90000-7x =76000

=> 714000 =>x=2000

]

/

/

/’ /
Hence, the fi(((d deposit investment = 1500000-300*2000 = 900000 = 9 lakhs

\"x._ugj Free CAT Preparation Video Lectures

Question 83

A club has 256 members of whom 144 can play football, 123 can play tennis, and 132 can play cricket. Moreover, 58 members can
play both football and tennis, 25 can play both cricket and tennis, while 63 can play both football and cricket. If every member can play

at least one game, then the number of members who can play only tennis is A
A 38 ,/
B 32 /_)
C 45 /
D 43 U/\\f
N
Answer: D

Explanation: Q\\\
Assume the number of members who can play exactly 1 game = | - \?
The number of members who can play exactly 1 game =1l £
The number of members who can play exactly 1 game = 11I ~_
[+211+3111=144+123+132=399....(1) FA
[+11+111=256......(2) \\,

Q\x ==

=> [142111=143.....(3)
Also, 11+3111=58+25+63=146 ......(4) R

=> Il = 3 (From 3 and 4) 5
f/
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=>11=137 k//
=>1=116

The members who play only tennis = 123-58-25+3 = 43

Question 84 —
!
/-
Ifai+a2+as+....+an 43(2 @ or every n. > 1, then a11 equals

Answer:6144

Explanation:
11th term of series = a

m of 11 terms - Sum of 10 terms = 3(211+1 — 2)-3(210+1 — 2)
=3(212 -2 — 211 +2)=3(21)2 — 1)=3*211 = 6144

Question 85 /

The numbe 4the\reaﬂj\s of the equation 2 cos(z(z + 1)) = 2% + 27 2j

C infinite
D O

Answer: B

Explanation:
2cos(z(z+1)) =2"+2""7

The maximum value of LHS is 2 when cos(z(z + 1)) is 1 and the is 2 using AM > GM

Hence LHS and RHS can only be equal when both sides are 2. For LHS, cosx X(x+1)=0 =>x=0,-1

For RHS minimum value, x=0

Hence only one solution x=0 N

Free CATE re ation App
Question 86
At their usual efficiency levels, A and B together fII‘IISh task in 12 days. If A had worked half as efficiently as she usually does, and B
had worked thrice as efficiently as he usual k wgmih?ve been completed in 9 days. How many days would A take to
finish the task if she works alone at her usual efh‘m\<
A 36
4

B 24 k
- _J
D 12

Answer: C

Explanation: \
Assuming A completes a units of w ay and B completes B units of work in a day and the total work = 1 unit

|
\
\

1)
Also, 9( 2+3b)=1 .. 5% ).

Using both equations, we get,ﬁqﬁb): 9( §+3b)

A

Hence, 12(a+b)=1........ K
\
3
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3a,
=>4a+4b= 2/ #9b
5a
=> 2 =5b
=>3=2b

Substituting the value of b in equation (1),

3a
12( 2 )=1

1
=>a= 18
1
Hence, the number of days required = 1/( 18)=18

Question 87

In a class, 60% of the students are girls and the rest are boys. There are 30 more girls than boys. If 68% of the students, including 30
boys, pass an examination, the percentage of the girls who do not pass is

Answer:20

Explanation:
Assuming the number of students =100x

Hence, the number of girls = 60x and the number of boys = 40x
We have, 60x-40x=30 =>x=1.5

The number of girls = 60*1.5=90

Number of girls that pass = 68x-30=68*1.5-30 = 102-30=72
The number of girls who do not pass = 90-72=18

Hence the percentage of girls who do not pass=.1800/90=20
Question 88

In a circle of radius 11 cm, CD is a diameter and AB is a chord of length 20.5 cm. If AB and CD intersect at a point E inside the circle and
CE has length 7 cm, then the difference of the lengths of BE and AE, in cm, is

Answer: D

Explanation:

A

In figure AE*BE=CE*DE (The intersecting chords theorem)
=>7*15= x(20.5-x) (Assuming AE=x)
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=>210=x(41-2x) N/

=> 22%-41x+210=0
=>x=100rx=10.5 =>AE=100r AE=10.5 Hence BE =20.5-10=10. Sf orB \& -1 /D

Required difference= 10.5-10=0.5
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Question 89 O )

On selling a pen at 5% loss and a book at 15% gain, Karim gains EE?--i:_Ijjj:eaéells the pen at 5% gain and the book at 10% gain, he gains
Rs. 13. What is the cost price of the book in Rupees?

O \
A 95 . \V—
O\
i §
B 85 ~
>
C 80 &
/
{
D 100 \ /f7
Answer: C .\~w/'
e
Explanation:

Assuming the cost price of pen J-GQp a:kthe cost price of book = 100b

So, on selling a pen at 5% IossUEmd a ok a

Adding 1T and 2 we get,(2§b=20

Hence 100b= 20*4:%
i
C is the answer. k\\
¥

Question90 .

&
A chemist mixes two liquids 1 and 2. One litre of liquid 1 weighs 1 kg and one litre of liquid 2 weighs 800 gm. If half litre of the mixture
weighs 480 g(m, then the aé}'centage of liquid 1 in the mixture, in terms of volume, is

'\\\_/ vy
A 80 v

B 70

o

C 85
75
Answer: A ﬁw
Explanation: / @ \_)

The weight/volume(g/L) for liquid 1 = 1000 /_4

The weight/volume(g/L) for liquid 2 = 800 :

The weight/volume(g/L) of the mixture = 480/(1/2) = 960

Using alligation the ratio of liquid 1 and liquid 2 in the mixture = (960- 800)/ (1000:960) = 160/40 = 4:1

Hence the percentage of liquid 1 in the mixture = 4*100/(4+1)=80 Q\

Question 91
Ramesh and Gautam are among 22 students who write an e 4au’n\:on Ramesh scores 82.5. The average score of the 21 students
other than Gautam is 62. The average score of all the 22 students re than the average score of the 21 students other than

Ramesh. The score of Gautam is
|
& \
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A 53 \N

B 51

Y 4
C 48 {
\
D 49 D
Answer: B
Explanation: ’

Assume the average of 21 stlﬂénts er amesh = a
Sum of the scores of 21 students ok r than Ramesh = 21a
Hence the average of 2 students at

Sum of the scores of H 2\2 students = 22(a+1)

The score of Ramesh = Watscores of all 22 students - Sum of the scores of 21 students other than Ramesh = 22(a+1)-21a=a+22 =
82.5 (Given) <
=>a=60.5 /;/\

Hence, sum( f the scores JlaII 22 students = 22(a+1) = 22*61.5 = 1353
?/of students other than Gautam = 21*62 = 1302

Now the sur@he scor

Hence the score BFGau"t/am =1353-1302=51

Top-500 Free CAT Questions (With Solutions)
Question 92 /,/

If m and n are integers such that (1/2)!934429mg" = 3n16™(V 64) theryn/é
/

Answer: C Q\\

S
Explanation: ) 7
We have, (1/2)1934429mgn — 3n16m(v/64) ]

Converting both sides in powers of 2 and 3, we get

19 6 F
9 2 349432m93n - gngdmo 4 \‘—4/7
19 6
Comparing the power of 2we get, 2 +4 + 4& e

=>4m=3n+12 ....(1)

Substituting the value of nin (1), we get
4m=3(4+2m)+12

=>m=-12

Question 93

Three men and eight machin?f;;rrm job in half the time taken by three machines and eight men to finish the same job. If two
machines can finish the job i L(‘l 3 days, t Fw many men can finish the job in 13 days?

N
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Answer:13

Explanation:
Consider the work done'by as-man in a day = a and that by a machine = b

Since, three men and eight machines can finish a job in half the time taken by three machines and eight men to finish the same job,
hence the efficiehcy will be double.

=> 3a+8b = 2(3b+8a)

=>13a=2b

Hence work done-by-13"'men in a day = work done by 2 machines in a day.

=> |f two machines can finish the job in 13 days, then same work will be done 13 men in 13 days.
Hence the required number of men =13

Question 94

Corners are cut off from an equilateral triangle T to produce a regular hexagon H. Then, the ratio of the area of H to the area of T is

D 3:4

Answer: A

Explanation:

\
// \
/ \
A —_———

The given figure can be divided into'9\regions or equilateral triangles of equal areas as shown below,
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Now the hexagon consists of 6 regions and the triangle,consists of 9 regions.

Hence the ratio of areas = 6/9 =2:3

Free CAT Study Material

Question 95

Let x and y be positive real numbers such'that
logs (z + y) + logs (x — y) = 3,and log2 y — log2 # = 1 — log2 3. Then zy equals

A 150

D 250

Answer: A

Explanation:
We have, logs (& + y) + logs (z —y) = 3
=2 —y? £125....(1)
log2y — logax = 1 — log2 3
Y 2
=z = 3

3y
=>2x=3y =>Xx= 2

On substituting the value of x in 1, we get

527
4 =125
=>y=10, x=15

Hence xy=150
Question 96

Let S be the set of all points (x, y) in the x-y plane such that | = | 4 | y |<'2 andf#[> 1. Then, the area, in square units, of the regior
represented by S equals

Answer:2
Explanation:
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|
Sum of the area of regiﬁl and Il is the required area.

1
Now, requiredarea= 4 x 2 X 1 x 1=2

Question 97

to (x, y+1) or to (x+1, ), is
Answer:3920

Explanation:

The number of paths from (1, 1) to (8, 10) via (4, 6) = The
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Question 98

If the rectangular faces of a brick have their diagonals in the ratio 3 : 2./3 : 1/15, then the ratio of the length of the shortest edge of
the brick to that of its longest edge'i

7
A V3:2 %
B 1:V3 \“‘\)
c 2:v5 (E
D \/i : \ /
S

Answer: B
Explanation:
Assuming the dimensions of the brick are a, b and ¢ and the diagonals are 3, 2 \/3 and \/15

p

Hence,a® + b2=32 ... (1)

b2+ c2=(2V3)2...(2)

2 + a?=(V15)2 ..(3)

Adding the three equations, 2(a? + b% + ¢2) = 9+12+15=36
=>a% + b2 + c?=18...(4)

Subtracting (1) from (4), we get ¢2 =9 =>c=3 Q

Subtracting (2) from (4), we get a2=6 =>a=V6

Subtracting (3) from (4), we get b? =3 =>b=v/3

The ratio of the length of the shortest edge of the brick to that of its longest
Question 99

The number of solutions to the equation | z | (622 + 1) = 5z?is

Answer:5 \
Explanation: \
For x <0, (622 + 1) = 522

=> (622 + 1) =-5x

=> (622 + 5z 4+ 1)=0

=>6x2 + 3z + 2z +1)=0

=> (3x+1)(2x+1)=0 =>x= —; orx= — 2
For x=0, LHS=RHS=0 (Hence,

For x >0, x(622 + 1) = 52 {

=> (622 — 5z +1)=0

=>(3x-1)(2x-1)=0 =>XT/I?§ or x= ;
Hence, the total nu f solutions =5
Question 100

Let T be the tri@gle formed by the straight line 3x + 5y - 45 = 0 and the coordinate axes. Let the circumcircle of T have radius of length
L, measured( Fthe same unit as the coordinate axes. Then, the integer closest to L is
m
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Answer:9

Explanation:

{15%

1 1 1
In any right triangle, the circumradius is half of the hypotenuse. Here,L= 2 *he length of the hypotenuse = 2 (V' 152 4+ 9%)= 2 %/ 306
! .
= 2X17.49=874 ‘

Hence, the integer closeto L =9
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